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Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 1: We  _____ for three hours and are very tired.

     A. are walking        B. have been walking               C. were walking
              D. had been walking 

Question 2: Thanks to the laser beams, at last, he could get rid of the __________birthmark on his face.

     A. normal

B. abnormal

  
C. abnormality  

D. abnormally

Question 3: _______________________ from Bill, all the students said they would go.

    A.  Except
            B.  Only
                    
  C.  Apart

   
D. Separate

Question 4: Not until a monkey is several years old ___________to exhibit signs of independence from its mother.

    A. beginning           B. does it begin                        C. and begin
   D. it begins

Question 5: These days almost everybody ___________the danger of smoking.

    A. know of                B. are aware of                        C. is aware about
   D. is aware of

Question 6: Had the drought not lowered the reservoir the ancient village_______________________

    A. wouldn't  be discovered
                                     B. wouldn't have been discovered

    C. can't have been discovered                                   D. can't be discovered

Question 7: It was not good to walk outside in ___________.

    A. such a fearful cold          B. such fear coldness       C. such fearful cold
D. so fearful a cold

Question 8: Mary:  “ Do you think it will rain ? “          Jenny: “Oh ! ________”

    A. I don’t hope.   B. I hope not.                          C. I don’t hope so  
D. It’s hopeless

Question 9: It is believed _____________ causes insomnia.

    A. too much caffeine which
   B. that too much caffeine 

    C. it in too much caffeine 
  
   D. too much caffeine that

Question 10: The train accident _____________ the other train’s departure by a few hours.

    A. sent back          B. called off                                 C. delayed
         D. retained

Question 11: Not only________  much bigger than any other planets, but unlike the planets, it consists completely of gaseous material.

    A. Sun is                  B. the Sun, which is                   C. is the Sun 
D. that the Sun

Question 12: - “ More coffee?, Anybody?”

                     - “ ______________________________.”


    A. I don’t agree, I’m afraid
     B. Yes, I’d love to         C. Yes, please

D. It’s right, I think

Question 13: . ____________ to the national park before, Sue was amazed to see the geyser.

    A. Being not 
      B. Not having been 
       C. Have not been 
D. Having not been

Question 14: She has to pass all her exams or _____________she would have no holiday.

    A. instead             B. else                                          C. therefore                           D. though

Question 15: In America, when a woman and a man are introduced, shaking hands is up to a woman.

    A. depends on         B. replies on                              C. waits on                          D. congratulates on

Question 16: A few diseases are still___________in the world.

    A. treatable            B. untreatable

                C. treated

             D. untreated

Question 17: That beautiful girl died of an___________morphine.

    A. overweight       B. overhear

              C. overdo

            D. overdose

Question 18: He __________________________me to believe that they had left the district.

    A. made
          B. led



  C. assured

            D. confirmed

Question 19: He was completely_________________________by her tale of hardship.

    A. taken away       B. taken down 


  C. taken in

            D. taken up

Question 20: Uncle Ho’s desire was that our country might______other countries in the world.

    A. be fed up with     B. make use of

C. keep pace with

D. take grand for
Question 21: Sarah is a young girl with________ and a straight nose.

    A. almond-shaped eyes 
B. almond-eyed shape   C. eyes shaped almond       D. almond-shape eyed

Question 22: You shouldn't ___________ to your teacher like that. It was very rude.

A. have talked     B. talk
    C. have be talked
         D. talked

Question 23: Don’t bother me while I___________.
    A. am working      B. was working


C. will work

           D. will have completed

Question 24: Oh, no! My wallet has been __________________________________

    A. robbed
          B. picked

               C. stolen

           D. theft
Question 25: There's someone at the door ___________________________________it.

    A. I'm answering   B. I answer


   C. I'll answer
           D. I answered

Question 26: Bill Gates is probably the best known and most successful_______in computer software.

    A. pioneer
          B. navigator 


   C. generator 

D. volunteer
Question 27: - “ Can I use your motorbike this evening?”

                     - “ ______________________________________”

    A. Of course, you can     B. Of course, you might
   C. It’s my pleasure

D. Do it if you can

Question 28: His father left New York. The doctor suggested he________there.


A. not stayed        B. won’t saty                                C. not stay
D. not go to stay

Question 29: No one died in the accident,________?

    A. didn’t they       B. did he

                           C. didn’t he


D. did they

Question 30: ___________the laser beam is very thin, it is intense enough to drill through the most delicate bones.

    A. When                B. While                                        C. Since
D. Although

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 31 to 40.

The White House, the official home of the United States president, was not built in time for George Washington to live in it. It was begun in 1792 and was ready for its first inhabitants. President and Mrs.John Adams, who moved in on November 1, 1800. When the Adamses moved in, the White House was not yet complete, and the Adamses suffered many inconveniences; for example, the main staircase was incomplete, which hindered movement from floor to floor, and the future laundry yard was merely a pool of mud, so wet laundry was hung in the unfinished East Room to dry. Thomas Jefferson, the third president, improved the comfort of the White House in many respects and added new architectural features such as the terraces on the east and west ends.

When the British forces burned the White House on August 24, 1814, President Madison was forced to leave.All the remained after the fire was the exterior walls, the interior was completely destroyed.It was not until December of 1817 that the following president, James Monroe, was able to move into a rebuilt residence. Since then, the White House has continued to be modified but has been continuously occupied by each succeeding U.S president.

Question 31: : Which of the following would be the most appropriate title for this text?
A. George Washington’s life in the White House.   

B.The Early History of the White House.
C. The burning of the White House.              

D. Presidential Policies of Early U.S.Presidents.

Question 32: Why did George Washington not love in the White House?

A. It had been burned by the British.



B. He did not like the architectural features.

C. He did not want to suffer the inconveniences that the Adamses had suffered.

D.Construction had not yet been completed.

Question 33: The word “ inhabitant” in line 2 is closest meaning to:

A. modifications
  B. moves 

C. celebrations 
D. residents
Question 34: It can be inferred from the passage that John Adams was:

            A. the first president of the United States. 
         B. the second president of the United States.
            C. the third president of the United States. 
         D. the fourth president of the United States.

Question 35: What of the White House was not yet complete when the Adamses moved in?

A. main staircase
B. laundry yard 
C. pool 

D. A and B

Question 36: The author most likely discusses the “ staircase” in line 5 in order to:

A. show the elegance of the new White House 

B. explain the architectural features added by Jefferson.

C. provide an example of an inconvenience in the White House.

D. demonstrate what had to be rebuilt after the fire.

Question 37: The word “ forces” in line 9 could best be replaced by:

A. military 

B.effort 

C. power 

D. energy

Question 38: According to the passage, which of the following best describes Thomas Jefferson’s  tenure in the White House?

A. He worked to improve the appearance and convenience of the White House.

B. He had to flee the White House because of  the war with the British.
C. He removed the terraces that had been added by Adams.
D. He was accepting of the many inconveniences.

Question 39:According to the passage, when James monroe came to the White House, it had    been:

A. repressed 

B. reconstructed 
C. relocated 
   
D. reserved 

Question 40: The paragraph following the passage most likely discusses:

 A. the details of the destruction of the White House by the British.

 B. James Monroe’s policies as presidents.
 C. modifications by  presidents who followed.

 D. other presidents who were unable to occupy the White House.

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.
Question 41: A. invaluable

B. investigate

C. intimacy

D. intensity

Question 42: A. mathematics

B. history

C. literature 

D. physics
Question 43: A. weightless

B. popular 

C. beautiful    

D. tomorrow

Question 44: A. forefather 

B. reassure 

C. surgery

D. vaporize

Question 45: A. undergrowth

B. untreatable

C. solidify

D. conventional
Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

Question 46: A paragraph is a portion of a text consists of one or more sentences related to the same idea.                                                                                                                  

                           A                                                B                                     C           D

Question 47: Chemical engineering is based on the principles of physics, chemists, and mathematics.
                                                               A             B                               C                       D

Question 48: I hadn’t understood his directions. However, I asked him to repeat what he’d said.

                                      A                                             B                C                                  D                                                                                                                                                  

Question 49: Although there were a lot of opposition initially, many people now accept that infertile 

                                                  A            B                                                       C                                                       
couples have the right to medical help.

                                                  D                                    

Question 50: With the development of the Internet and the World Wide Web, businessmen do 

                                                A                                                                                  B                                       

not hardly have as much traveling as they used to. 

                C                                                 D

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 51 to 60.

ENVIRONMENTAL ACTIVISTS


Paul Watson is an environmental activist. He is a man who believes that he must do something, not just talk about doing something. Paul believes in protecting endangered animals, and he protects them in controversial ways. Some people think that Watson is a hero and admire him very much. Other people think that he is a criminal.


On July 16th, 1979, Paul Watson and his crew were on his ship, which is called the Sea Shepherd. Watson and the people who work on the Sea Shepherd were hunting on the Atlantic Ocean near Portugal. However, they had a strange prey; instead of hunting for animals, their prey was a ship, the Sierra. The Sea Shepherd found the Sierra, ran into it and sank it. As a result, the Sierra never returned to the sea. The Sea Shepherd, on the other hand, returned to its home in Canada. Paul Watson and his workers thought that they had been successful.


The Sierra had been a whaling ship, which had operated illegally. The captain and the crew of the Sierra did not obey any of the international laws that restrict whaling. Instead, they killed as many whales as they could, quickly cut off the meat, and froze it. Later, they sold the whale meat in countries where it is eaten.


Paul Watson tried to persuade the international whaling commission to stop the Sierra. However, the commission did very little, and Paul became impatient. He decided to stop the Sierra and other whaling ships in any way that he could. He offered to pay $25,000 to anyone who sank any illegal whaling ship, and he sank the Sierra. He acted because he believes that the whales must be protected. Still, he acted without the approval of the government; therefore, his actions were controversial.


Paul Watson is not the only environmental activist. Other men and women are also fighting to protect the Earth. Like Watson, they do not always have the approval of their governments, and like Watson, they have become impatient. Yet, because of their concern for the environment, they will act to protect it.

Question 51: According to the reading, an environmental activist is someone who ____

     A. runs into whaling ship

B. does something to protect the Earth

     C. talks about protecting endangered species 
D. is a hero, like Paul Watson

Question 52: When something is controversial , ____

     A. everyone agrees with it

B. everyone disagrees with it

     C. people have different ideas about it
D. people protect it

Question 53: The members of a ship’s crew are ____.

     A. the men and women who work on the ship
B. the people who work on the airplanes

     C. all of the people on a ship, including the passengers    D. the people who own the ship

Question 54: The main idea of paragraph one is that ____

     A. Paul Watson is a hero to some people 
B. activists are people who do something

     C. Paul Watson is a controversial environmental activist    D. Paul Watson does not believe in talking

Question 55: The Sea Shepherd was hunting ____

     A. the Atlantic Ocean 
B. whales
C. the Sierra
D. Portugal

Question 56: The author implies that Paul Watson lives in ____

     A. Portugal
B. a ship on the Atlantic
C. the Sierra
D. Canada

Question 57: The captain and the crew of the Sierra were acting illegally because ____.

     A. they were not obeying international laws
B. they were whaling


     C. they were killing and selling whales 
D. All of the above are correct

Question 58: In paragraph 3 the phrase “and froze it” refers to ____ .

     A. whale meat
B. the Sierra
C. whales                    D. the Sierra crew

Question 59: The main idea of paragraph 3 is that ____ .

     A. the Sierra sold whale meat in some countries


     B. the people on the Sierra didn’t obey international laws.

     C. the people on the Sierra killed as many whales as they could.

     D. whaling is illegal according to international law.

Question 60: Watson ran into the Sierra because ____ .

     A. he wanted to stop the ship’s crew from whaling  

     B. he was impatient with the government’s actions

     C. he wanted to protect the whales from the whalers


     D. All of the above are correct 


Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

 Question 61: Although he was very tired, he agreed to help me with my homework.

     A. Tired as he was, he agreed to help me with my homework.

     B. Despite being very tired, but he agreed to help me with my homework.

     C. Tired though he was, but he agreed to help me with my homework.

     D. As tired as was he, he agreed to help me with my homework.

Question 62: I’m sure it wasn’t Mr. Phong you saw because he’s in Hanoi.

     A. It couldn’t be Mr. Phong you saw because he’s in Hanoi.

     B. You mustn’t have seen Mr. Phong because he’s in Hanoi

     C. It can’t have been Mr. Phong you saw because he’s in Hanoi.

     D. Mr. Phong mightn’t see you because he’s in Hanoi.

Question 63:  I’m like my mum, whereas my brother looks like my dad.

A. I’m like my mum, whereas my brother takes after my dad.

B. I’m like my mum, whereas my brother takes over my dad.

C. I’m like my mum, whereas my brother takes on my dad.

D. I’m like my mum, whereas my brother takes in my dad.

Question 64: She had only just begun to speak when people started interrupting.

     A. She hardly had begun to speak when people started interrupting.

     B. Hardly she had begun to speak when people started interrupting.

     C. Hardly had she begun to speak when people started interrupting.

     D. She hadn’t begun to speak when people started interrupting.

Question 65: They would have never accepted his money if they had known his plan.

     A. They knew what he wanted to do, so they refused his money.

     B. They agreed with his wishes because they were glad to have his money.

     C. They took the money he offered them without realizing his purposes.

     D. They didn’t know his plan and never took the money from him.

Question 66:  “ Let’s go to the cinema tonight” he suggested

     A. He suggested them to go to the cinema that night
       


     B. He suggested their going to the cinema that night

     C. He suggested they went to the cinema that night       

     D. He suggested that let’s them to go to the cinema that night

Question 67: “You should have finished the report by now,” the boss said to his secretary.

     A. The boss suggested his secretary should have finished the report on time.
     B. The boss scolded his secretary for not finishing the report on time.
     C. The boss reminded his secretary of finishing the report on time.
     D. The boss advised his secretary to finish the report on time.

Question 68: I was on the point of leaving the house when he came.

     A. No sooner had I left the house than he came. 

     B. I had hardly left the house when he came.

     C.When he came I had just left the house.

     D. I was just about to leave the house when he came.

Question 69: "Why don't you get your hair cut, Gavin?" said Adam.

A. Adam advised Gavin to cut his hair.

B. Gavin was suggested to have a haircut.

C. It was suggestable that Adam get Gavin's haircut.

D. Adam suggested that Gavin should have his haircut.

Question 70: Without skilful surgery he would not have survived the operation. 
     A. Had it been for skilful surgery he would not have survived the operation. 

     B. He wouldn't have survived the operation if he hadn't had skilful surgery. 

     C. But for skilful surgery he would not have survived the operation. 

D. With skilful surgery he would have survived the operation.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks from 71 to 80.

      Face-to-face conversation is two-way process: You speak to me, I reply to you and so on. Two-way (71)______depends on having a coding system that is understood by both (72)______ and receiver, and an agreed convention about (73)______ the beginning and end of the (74) ______. In speech, the coding system is the language like English or Spanish; the convention that one person speaks at a time may seem too obvious to (75)______. In fact, the (76)______ that people use in conversations and meetings are often non-verbal. For example, lowering the pitch of the voice may mean the end of a sentence; a sharp intake of breath may signal the desire to (77)______, catching the chairman’s (78)______may indicate the desire to speak in a formal setting like a (79)______, a clenched fist may indicate anger. When these (80)______ signals are not possible, more formal signals may be needed.

Question 71: A. interchange
B. exchange
C. correspondence
D. communication
Question 72: A. announcer
B. transmitter
C. messenger
D. sender
Question 73: A. signing
B. symbolizing
C. signalling
D. showing
Question 74: A. message
B. topic
C. idea
D. theme
Question 75: A. judge
B. mention
C. recognize
D. notice
Question 76: A. signals
B. symptoms
C. symbols
D. signs
Question 77: A. interchange
B. interfere
C. interrupt
D. intercept
Question 78: A. elbow
B. eye
C. shoulder
D. hand
Question 79: A. chat
B. debate
C. broadcast
D. lecture
Question 80: A. visual
B. auditory
C. verbal
D. sensory
     ---------- THE END ------
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Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following word. 

Question 1: 
A. committee 

B. referee 

C. employee 

D. refugee

Question 2: 
A. alcohol 

B. comment 

C. chemical 

D. proceed

Question 3: 
A. company

B. atmosphere
            C. customer

D. employment

Question 4: 
A. apprehension        
B. preferential     
C. conventional     
D. calculation

Question 5: 
A. satisfactory     
B. alter     
            C. military     

D. generously

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 6 : Not until the end of the 19th century ______ become a scientific discipline.


A. plant breeding has 
B. did plant breeding 



C. plant breeding had 
D. has plant breeding

Question 7: 
When friends insist on ______ expensive gifts, it makes most people uncomfortable.

 

A. them to accept
B. they accepting
C. their accepting
D. they accept

Question 8: 
_________ that she burst into tears.
A. Such was angry girl


B. So angry she was
C. She was angry so


D. Her anger was such

Question 9: They always kept on good ______ with their next-door neighbors for the children’s sake.

 

A. will


B. friendship

C. terms

D. relations
Question 10: 
They stayed for hours, ______ my mother was very annoyed about.

A.  that 

B. which 

C. this


D. whom

Question 11: 
The vase is definitely not_______, but just a very good imitation.

      

A. real


B. factual 
           C. genuine

D. true

Question 12: 
I walked away as calmly as I could. __________, they would have thought I was a thief.

A. In case

B. If so

C. Or else

D. Owing to

Question 13: 
Please answer the phone for me. I don't want to speak to ______ it is

A. whoever

B. whatever

C. whenever

D. wherever
Question 14: 
By the time Brown’s daughter graduates, __________ retired.
A. he


B. he has

C. he’ll being

D. he’ll have

Question 15: 
__________the storm, the ship couldn't reach its destination on time.



A.  Because of
B. Incase of

C. In spite of

D. But for

Question 16:  While ________ to help Tim with his math, I got impatient because he wouldn’t pay attention to what I was saying.

A. I am trying

B. having tried
C. I try


D. trying

Question 17: The problem is difficult, therefore ______ students could answer it.

A. a great number of
B. a lot of

C. few


D. a few
Question 18: 
I was in a such hurry that I left one of my bags _________

 


A. out 


B. behind 

C. on


D. aside

Question 19: 
Do you think you can meet the _________  given by our teacher ?. 

A.  deadline  

B. line   

C.  dead   

D face 

Question 20: 
The twins look so much alike that almost no one can ____them____

      

 A. take....apart
B. tell....away

C. tell....apart

D. take....on

Question 21: 
Everyone can join our club, _____________  age and sex.



A. not mention
B. in case of

C. in place of

D. regardless of

Question 22: The strike was caused by the_________ of two workers.

A. dismiss

B. dismissing

C. dismissed

D. dismissal

Question 23: Look! The yard is wet. It______ last night.




A. must rain
B. couldn't have rained 
C. must have rained
D. should have rained

Question 24:  There was a terrible storm on the night we first stayed at the campsite but we were alright with our tent and were dry as a ___________.



A. bone

B. cover

C. coat


D. sheet

Question 25: James Cook,______ , also discovered tje Hawaiian Islands.

A. by exploring the South Sea he reached Australia.

B. explored the South Sea and reaching Australia.

C. who explored the South Sea and reached Australia.

D. explored the South Sea then reached Australia.

Question 26: The factory was _________ so the management tried to cut costs by making some workers redundant.

A. competition
           B. competitive
            C. uncompetitive
D. competed

Question 27: 
'These tablets really are ______. My headache’s much better now.' 

A. affective

B. effective

C. efficient

D. affected
Question 28: 
“I understand you don’t like opera. _____ I go at least once a month.”

         

A. On contrast
           B. In contrast           
C. In the contrast
D. On the contrast

Question 29: 
He has always looked _______ his elder brother.
A. up to

B. back on

C. into


D. up and down

Question 30: 
A: Do you mind if we schedule the meeting for 11 o’clock?
B: Well, actually, I __________ earlier
A. will prefer it 



B. would prefer it to be 


C. am preferring 



D. should prefer it will be
Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions or the correct question to each of the following answers .

Question 31: “Would you mind closing the window?” – “______________”

A. Not at all. I will close it now.         
            B. Yes, very soon.            

C. Yes, certainly.
           


D. Yes, I would. Go ahead.
Question 32: 
Ellen : "_________________?"       - Tom : "He's tall and thin with blue eyes." 

      

A. What does John look like                     
B. Who does John look like 


      

C. How is John doing                                  
D. What does John like 


Question 33: “Your parents must be proud of your result at school”. – “______________”

A. Sorry to hear that.



C. Of course

B. Thanks. It’s certainly encouraging.
D. I am glad you like it.

Question 34: 
Customer: Can I have a look at that pullover, please?
Salesgirl: “__________.”

A. It's much cheaper



B. Which one? This one? 

C. Sorry, it is out of stock.


D. Can I help you?

Question 35: 
 A: I had a really good weekend at my uncle’s.       B:  “__________.”
      

A. Oh, that’s very nice of you                       B. Congratulations 
      

C. It’s pleasure                                             D. Oh, I’m glad to hear that


Mark the letter A, B, C or D on your answer sheet to show the underlined part that needs correction.

Question 36: 
In very early times, people around the fire were entertained by storytellers with stories of.

                                                A                  B                            C    

heroes’ victory and wonderful actions

                  D 
                                

   







                                                      

Question 37: 
When I got home, Irene was lying in bed thinking about the wonderful time she has  had.

                  A                             B                        C 



       D           

Question 38: 
People tend to make a lot of shopping at Xmas time.

                                               A          B                     C             D

Question 39:
Stuart stopped to write his letter because he had to leave for the hospital.

                                                    A                        B                          C                 D     

Question 40: 
A fully grown male mountain lion may be eight long feet. 

                                   A                      B                        C                D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to the original sentence in each of the following questions.

Question 41: 
There were over two hundred people at Carl's trial, most of whom believed that he was not guilty of the crime.
A. Carl had not committed the crime, and so more than 200 people came to his trial to show their support.

B. When it was announced that Carl had been found not guilty of the crime, there were over 200 people in the audience at his trial.

C. Over 200 people coming to Carl’s trial must have influenced the fact that he was not found guilty of the crime.

D. The majority of the more than 200 people at Carl’s trial didn’t think that he had committed the crime.
Question 42: 
Ann had the TV on when her parents entered the room.


A. The TV was on a table in Anne’s room.


B. Anne’s parents told her to turn on the TV.

C. Anne noticed her parents watching TV.


D. Anne’s parents found her watching TV.

Question 43: “You should have finished the report by now.” John told his secretary.

A. John reproached his secretary for not having finished the report.

B. John said that his secretary had not finished the report.

C. John reminded his secretary of finishing the report on time.

D. John scolded to his secretary for not having finished the report.

Question 44: Madeleine wears high heels to look taller.

A. In order to look taller, Madeleine wears high heels.

B. So that to look taller, Madeleine wears high heels.

C. Madeleine wants high heels to make her taller.

D. Madeleine buys high heels to look taller.

Question 45:
Even though some events were cancelled, thousands of people attended the festival.


A. No matter how many people attended the festival, some events were cancelled


B. In spite some cancelled events, thousands of people attended the festival.


C. As some events were cancelled, thousands of people attended the festival.


D. Despite the cancellation of some events, thousands of people attended the festival.

Question 46:
It couldn’t have been Mary that you heard shouting last night, as she is vacationing in Vermont at the moment.
A. I think Mary is on holiday in Vermont now, so you may be wrong in thinking that you heard her yelling last night.

B. Right now, Mary is having a holiday in Vermont, so it is impossible that it was she whose shouting you heard last night.

C. Are you sure it was Mary who shouted to you last night, because, as far as I know, she is on vacation in Vermont at the moment?

D. If it was Mary that you heard yelling last night, then she can’t be taking a vacation in Vermont at the moment.
Question 47:
Both of the lifts were out of order.



A. Either of the lifts was not in right order.
B. The order of the two lifts was wrong
 



C. Neither of the lifts was working.

D. Neither of the lifts was in order. 

Question 48: He was sentenced to six months in prison for his part in the robbery

A. He received a six months in prison for his part in the robbery.

B. He received a six-month sentence for his part in the robbery.

C. For his participation in the robbery, he had been in prison for six months.

D. For his participation in the robbery, a prison had been given to him for six months.

Question 49: 
It is possible that we won't have to take an entrance exam this year.

A. Perhaps we don't have to take an entrance exam this year.

B. We must take an entrance exam this year.

C. We mightn't take an entrance exam this year.

D. It is very likely that we will take an entrance exam this year.

Question 50: The crowd became increasingly angry at the long delay. 



A. The crowd became very angry because the delay was so long. 


B. The more increasingly the crowd became, the longer the delay was. 


C. The longer the delay was, the angrier the crowd became. 


D. The more the crowd became angry at the delay, the longer they feel. 

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the questions from 51 to 60

      The goal of Internet-based encyclopedia Wikipedia (www.wikipedia.org) is to give everyone on the planet access to information. Like other encyclopedias, Wikipedia contains lots of information: more than 2.5 million articles in 200 different languages covering just about every subject. Unlike other encyclopedias, however, Wikipedia is not written by experts, but by ordinary people. These writers are not paid and their names are not published. They contribute to Wikipedia simply because they want to share their knowledge.

     Encyclopedias began in ancient times as collections of writings about all aspects of human knowledge. The word itself comes from ancient Greek, and means “a complete general education”. Real popularity for encyclopedias came in the nineteenth century in Europe and the United States, with the publication of encyclopedias written for ordinary readers. With the invention of the CD-ROM, the same amount of information could be put on a few computer discs. Then with the Internet, it became possible to create an online encyclopedia that could be constantly updated, like Microsoft’s Encarta. However, even Internet-based encyclopedias like Encarta were written by paid experts. At first, Wikipedia, the brainchild of Jimmy Wales, a businessman in Chicago, was not so different from these. In 2001, he had the idea for an Internet-based encyclopedia that would provide information quickly and easily to everyone. Furthermore, that information would be available free, unlike other Internet encyclopedias at that time.

     But Wales, like everyone else, believed that people with special knowledge were needed to write the articles, and so he began by hiring experts. He soon changed his approach, however, as it took them a long time to finish their work. He decided to open up the encyclopedia in a radical new way, so that everyone would have access not only to the information, but also to the process of putting this information online. To do this, he used what is known as “Wiki” software (from the Hawaiian word for “fast”), which allows users to create or alter content on web page. The system is very simple: When you open the web site, you can simply search for information or you can log on to become a writer or editor of articles. If you find an article that interests you – about your hometown, for example – you can correct it or expand it. This process goes on until no one is interested in making any more changes.

Question 51:  Wikipedia is a(n) ___________ .

A. book

B. journal

C. article

D. dictionary

Question 52:  Wikipedia is written by___________.

A. paid written
B. millionaires
C. normal people
D. world experts

Question 53:  The phrase “these writers” in the first paragraph refers to _______.

A. ordinary readers   



B. ordinary people           

C. encyclopedia experts 


D. every subject

Question 54:  The phrase “the word” in the second paragraph refers to ________.

A. knowledge

B. encyclopedia
C. writing

D. collection

Question 55:  Microsoft’s Encarta is cited in the passage as an example of _______.

A. CD-ROM dictionary


B. printed encyclopedia

C. online encyclopedia


D. updateable online encyclopedia

Question 56:  The word “brainchild” in the 2nd paragraph of the passage can be best replaced by_____.

A. born

B. child

           C. product

D. father

Question 57:  The word “approach” in the third paragraph of the passage means________. 

A. idea

B. time

                       C. method

D. writing

Question 58:  The user of Wikipedia can do all of the following EXCEPT__________.

A. have access to information           
B. determinate the website          

C. modify information
       

D. edit information

Question 59:  We can say that Jimmy Wales _______.

A. became very famous after the formation of Wikipedia                      

B. is the father of Wikipedia

C. made a great profit from Wikipedia                                                  

D. decides who can use Wikipedia

Question 60:  Wiki software enables _______.

A. exchanging articles           

            B. a purchase of information                  

C. limited access
             

D. editing

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the questions from 61 to 70

Fiberscopes are one of the most are one of the most important outcomes of he science of fiber optics. Fibers made of glass and transparent acrylic plastic are capable of conveying light energy, and when thousands of these fibers are combined in what is called a fiberscope, they can transmit images. The most common fiberscopes contain about 750,000 fibers, each 0.001 centimeter, or 10 microns, in diameter. For certain uses, the diameter of the fiber may be as small as 5 microns.

Fiberscopes have a wide range of applications. In the medical field, physicians use fiberscopes to examine internal organs and as an aid in delicate surgeries. Miniature probes have also been developed to view muscle fiber, skin tissue, and blood cells. Fiberscopes have also found varied uses in industry, particularly to inspect or control operations in inaccessible areas. Bundles of fiberscopes fused together in a solid plate, called a faceplate, are being used in the manufacture of television tubes and other cathode-ray tube devices.

The most far reaching applications of fiber-optic technology are in communication. Optical fibers carry voice messages for telephone service. The sound of the voice is electronically broken down into thousands of pulses per second, which causes a transmitting laser to send coordinated pulses of light through the optical fibers. At the receiving end, the light pulses are converted to electrical signals and the voice message is reconstructed. Light-wave communication systems can handle an immensely greater number of telephone calls and television programs than the current system, and they will form the basis of the “electronic superhighway” expected to crisscross the nation in the near future of the information age.

Question 61: How do optical fibers carry voice message?

A. By fusing bundles of fiberscopes into a faceplate
B. By converting electrical signals to light pulses
C. By sending coordinated electrical pulses through optical fibers
D. By using cathode-ray tube devices.

Question 62: The word inaccessible in line 9 means

A. difficult to find



B. extremely small


C. hard to reach



D. impossible to climb

Question 63: 
It can be inferred from the passage that fiberscopes
A. have more uses in industry than in medicine
B. will play a major role in the information age
C. will decrease in importance as they become more common
D. have reached the peak of their development

Question 64: Where in the passage does the author discuss the uses of miniature probes in medicine?

A. lines 2-7

B. lines 6-8

C. lines 14-16

D. lines 17-19

Question 65: The main topic of the passage is
A. The birth of the “electronic superhighway”
B. The various applications of fiber-optic technology
C. How fiberscopes have enhanced the field of medicine
D. How sound may be transformed into light

Question 66: As used in line 18, the word they refers to
A. fiberscopes



           B. light-wave communication systems
C. television programs


D. television calls

Question 67: The word converted in line 15 is closest in meaning to
A. transferred

B. transformed
C. transmitted

D. changed

Question 68: The word coordinated in line 14 is closest in meaning to
A. separated

B. organized

C. transformed
D. deconstructed

Question 69:
Fiberscopes are being used to do all of the following EXCEPT
A. assist in delicate surgeries

             B. control operations in inaccessible areas
C. convert light pulses to electrical signals
 D. transmit images

Question 70: The passage will most likely be followed by a discussion of

A. homes and businesses of the future
B. the structure of fiberscopes
C. additional uses of fiberscope in industry
D. the use of fiber optics in the electronic superhighway

Mark the letter A, B, C or D on your answer sheet to indicate the correct word or phrase to fill in the blank in the following passage from  71 to 80.    

Why do people like to chew gum? Some people say they like the taste____ 71 ____say they can think better if they chew gum. Some people chew it when they have some boring work to ____72 ____.Others chew gum when they are nervous.

Gum is a ____73 ____of things. For many years gum companies made gum from chicle. Chicle is a natural gum from a tree in Mexico and Central America. Now companies use plastic and rubber made from petroleum ____74 ___of chicle.

Gum must be soft ____75____ you can chew it. A softener keeps it soft. The gum company makes the softener from vegetable oil. A sweetener makes the gum sweet. The sweetener is usually sugar. Then the company ___76___   the flavor.

Thomas Adams made the first gum from chicle in 1836. ___77___, chewing gum was not new. The Greeks chewed gum from a tree ____78___ 2,000 years ago. Mayan Indians in Mexico chewed chicle. Indians in the Northeastern United States taught Europeans to chew gum from a tree there.

    People first made bubble gum in 1928. Children like to ___79___ bubble with bubble gum. Some university students do ___80___.

Question 71:  A. The other

B. Others

C. The others

D. Other

Question 72: 
A. make

B. get


C. do


D. carry

Question 73: 
A. mixture

B. roll


C. fix


D. connection

Question 74:
A. aside

B. apart

C. inside

D. instead

Question 75:  A. so that

B. then

            C. for


D. that

Question 76: A. puts


B. places

C. adds

D. fits

Question 77: A. However

B. More

C. But


D. Though

Question 78: A. more


B. over

            C. above

D. than

Question 79: A.  turn

            B. set


C. pass


D. blow

Question 80: A. so


B. too


C. then

            D. same

----THE END---
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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part is pronounced differently from that of the rest or whose stress pattern is different from the others in each of the following questions.
Question 1.a. tough
b. much
c. thorough
d. enough 

Question 2.a. subsidies
b. stagnant
c. ethnic
d. substantial

Question 3.a. renovate
b. policy
c. dissolve
d. congress

Question 4.a. uses
b. purses
c. agrees
d. pleases
Question 5.a. astronaut
b. technique
c. domestic
d. incredible

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 6. The weather, recently, has been  ……….mild for December.


a. surprisedly
b. surprising
c. surprisingly
d. surprised

Question 7. ’Will be there a lot of people at the concert tonight?’     ‘…. There aren’t usually very many.’


a. I don’t expect so.
b. I expect not.
c. I expect so.
D. I think not.

Question 8. ‘Thanks a lot.’          ‘……………’


a. Don’t mention it.
b. Oh, that’s too bad.
c. Oh, I’m sorry to hear that.

d. Of course.

Question 9. You ……give me a lift. I can easily catch a bus.


a. don’t have
b. needn’t
c. don’t need
d. mustn’t
Question 10.I always dream of having a sports car…………


a. in my possession
b. on my own
c. of my own
d. of me

Question 11. The water workers’ claim for a ten percent pay rise has been under ……by the Government.


a. consideration
b. inquiry
c. regard
d. application 

Question 12. He ….. a rare disease when he was working in the hospital.


a. took
b. suffered
c. infected
d. caught

Question 13.If you ……..to my advice in the first place, you ……..in this mess now.


a. listened/wouldn’t be

b. had listened/wouldn’t be  


  c. had listened/wouldn’t have been
d. are/will be

Question 14. I’m not at all put out by their decision.  …….,I welcome it.


a. All the same
b. On the contrary
c. In contrast
d. On the other hand

Question 15. You’d rather stay at home tonight, ……you?


a. hadn’t
b. didn’t
c. wouldn’t
d. won’t

Question 16.I was passing their house, so I …..Claire and Michael.


a. got on with
b. came up with
c. dropped in on
d. ran into


Question 17. In elections, politicians try to get old people to vote for them, it’s called the ….vote.


a. white
b. blue
c. old
d. grey

Question 18. In the end, I just lost my ……..and started gabbling incoherently.


a. head
b. mind
c. brain
d. intelligence

Question 19. We all ………working with you. You are so dynamic.



a. think
b. judge
c. believe
d. appreciate

Question 20. …….his dangerous driving, Barry has never been caught by the police.


a. In spite
b. Although
c. Despite
d. However

Question 21.The Government hopes to ………its plans for introducing cable T.V.


a. carry out
b. turn out
c. carry on
d. keep on

Question 22. To give an effective speech, …….is the delivery that is most important.


a.it 
b. which
c. there
d. that

Question 23…….parents of Thomas claimed that he was at ……home at the  time of …….robbery.


a. X-X-the
b. The –the-the
c. X-X- a
d. The –X- the

Question 24. Martin tried on  three jackets, ……….fitted him.


a. none
b. none of which
c. none of them
d. which

Question 25. Hello! Aviation Electronics? Could I speak to Mr. John on ……..8183, please.


a. branch
b. extension
c. system
d. exchange

Question 26. Joe had his car ….last month and then ……it.


a. fix/sell
b. fixed/sell
c. fixed/sold
d. to fix/to sell 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer for each of the blanks .                                    

LISTENING


Human beings have a strong need to 27…….their experiences and problems into words. That is why everyone 28………a ‘friendly ear’-someone who is 29……to listen to  their troubles and joys. But few people 30…….. what a complex skill listening is. To be a  good listener requires great 31…….of concentration, which can only be gained through practice.


There are two reasons why listening is  often such hard 32….. . The first is simply that people much prefer to speak. How often have you 33…….what someone has said because you were thinking about what you were going to say in 34……….? The second reason is that people speak too slowly. The average speed is about 125 words per minute, 35………is not fast enough for the human brain. It 36……..too much time for the concentration to fail, as the brain tries to 37……..itself busy with other , irrelevant thoughts.


Next time you are in a listening 38………, try to predict what the  speaker is going to say. Ask yourself questions about what is being said, and 39……..if the speaker answers them. Finally, make quick summaries in your head of the main 40……..that  have been made. All of these things will 41…….you to concentrate and make you a better listener.

Question 27.a. say
b. put
c. tell
d. place

Question 28.a. approves
b. applauds
c. appreciates
d. attracts

Question 29.a. agreed
b. wanting
c. capable
d. willing

Question 30.a. realise
b. believe
c. relate
d. detect

Question 31.a. forces
b. skills
c. powers
d. energy

Question 32.a. job
b. work
c. task
d. act

Question 33.a. lost
b. dropped
c. slipped
d. missed

Question 34.a. report
b. answer
c. reply
d. turn

Question 35.a. that
b. what
c. this
d. which

Question 36.a. lets
b. allows
c. makes
d. admits

Question 37.a. keep
b. stop
c. maintain
d. hold

Question 38.a. station
b. circumstance
c. atmosphere
d. situation

Question 39.a. look
b. watch
c. see
d. tell

Question 40.a. marks
b. points
c. topics
d. ideas

Question 41.a. aid
b. serve
c. give
d. help

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.

Statistics regarding cigarette smoking are anything but encouraging. The Federal Trade Commission recently announced that in 1980 Americans purchased 628.2 billion cigarettes, an appallingly greater number than ever before. The average smoker consumed 11,633 cigarettes, of which 44.8 percent were low-tar cigarettes containing less than 15 milligrams of tar. In 1968 the average tar content was 22 milligrams.

Despite the fact that every cigarette pack has a printed warning from the Surgeon General, those who still smoke are smoking more heavily. Many people have forsworn smoking in fear of lung cancer. The American Cancer Society reports that death rates from lung cancer have escalated, whereas those for other major cancers have leveled off or declined. Last year 111,000 Americans died of lung cancer, while it is estimated that 117,000 will succumb this year. Lung cancer heads the list in killing 35 percent of males who die from cancer. Lung cancer accounts for  17 percent of women’s cancer deaths. An estimated 440,000 deaths from cancer will occur this year, 9,000 more than the previous year. Lung cancer accounts for two thirds of the increase. Although many cancer patients have survived the disease, the prognosis for lung cancer patients is most disheartening. Ninety one percent of all diagnosed cases of lung cancer do not survive.

Question 42. You may infer that low-tar cigarettes 


a. reduce the dangers of smoking
b. appeal to a majority of smokers


c. cause lung cancer

d. have the Surgeon General’s approval

Question 43. Statistics show  average smokers smoke


a. less than they did in the past
b. more than they did in the past



c. the same as they did in the past
d. none of the above

Question 44. It is predicted that the number of deaths from lung cancer this year will be


a. reduced from the number last year
b. the same as the number last year



c.6,000 more than last year
d.111,000

Question 45. The percentage of the women’s lung cancer deaths is


a. equal to that of men’s lung cancer deaths



b. rising annually


c. about half the percentage of men’s  cancer deaths


d. an indication that women are not susceptible to lung cancer.

Question 46. You may infer from the passage that lung cancer


a. can be treated effectively
b. is always related to smoking


c. will cause cigarettes to be taken off the market   d. currently has no infallible cure

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

Question 47.(A)It’s time  you (B)went home, but (C)I’d rather you (D)stay here.

Question 48.(A)However well he did at school, he (B)never seemed (C)to be satisfied (D)at the result.

Question 49.I (A)hadn’t understood his directions. (B) However,  I (C)asked him  to repeat what (D)he’d said.

Question 50.(A)Which of (B) these two computers (C)is the (D)most modern?
Question 51. The children forgot (A)picking up the (B)note from the office and (C) now they (D)are   worried.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.


A pilot cannot fly a plane by sight alone. In many conditions, such as flying at night and landing in dense fog, a pilot must use radar, an alternative way of navigating. Since human eyes are not very good at  determining speeds of approaching objects, radar can show a pilot how fast nearby planes are moving. The basic principle of radar is exemplified by what happens when one shouts in a cave. The echo of the sounds against the walls helps a person determine the size of the cave. With radar, however, the waves are radio waves instead of sound waves. Radio waves travel at the speed of light, about 300,000 kilometers in one second. A radar sends out a short burst of radio waves. Then it receives the echoes produced when the waves bounce off the objects. By determining the time it takes for the echoes  to return to the radar set, a trained technician can determine the distance between the radar set and the objects. The word ‘radar’ , in fact, gets its name from the term ‘radio detection and ranging’. ‘Ranging’ is the term for detection of the distance between an object and the radar set. Besides being of critical importance to pilots, radar is essential for air traffic control, tracking ships at sea, and for tracking weather systems and storms.

Question 52. What is the main topic of the passage?


a. the nature of radar
b. types of ranging
c. alternatives to radar
d. history of radar

Question 53. The word ‘dense’ could be replaced by ….


a.cold
b. thick
c. wet
d. dark

Question 54. Which of the following best describes the tone of the passage?


a. argumentative
b. imaginative
c. explanatory
d. humorous
Question 55. The phrase ‘a burst’ is closest meaning to ….


a. an attachment
b. a discharge
c. a stream
d. a ray

Question 56. The word ‘it’ refers to …


a. a radar set
b. a short burst
c. a radio wave
d. light

Question 57. Which types of waves does radar use?


a. sound
b. heat
c. radio
d. light

Question 58. The word ‘critical’ is closest meaning to…..


a. serious
b. severe
c. heavy
d. crucial

Question 59. The way radar works is compared to …


a. a burst of the river banks
b. the depth of a cave


c. the echo of sound against the walls
d. the eyesight in dense fog

Question 60. What might be inferred about radar?


a.It takes the place of a radio
b.It gave birth to the invention of the airplane


c. It developed from a study of sound waves
d.It has improved navigational safety

Question 61.Which may be the topic of the next paragraph?


a.other uses of radar

b.uses of sonar technology


c.other technology used by pilots
d.a history of flying 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer for each of the blanks .

You have 62…….heard someone say that the reason you caught a cold was that you were run-down. People generally accept that if you are under press or run-down, you are more 63………to get ill. But is this really true or is it just an old wives’ 64………?


The problem 65……..old sayings like this is that it is often difficult to prove 66……..they are true or not. If you ask people with colds if they are feeling run-down, they are almost certain 67…….yes. People without colds are more likely to say no. So, 68……..you can tell if it’s the cold that is making them feel run-down or the fact that they are run-down that is making them more likely to catch a cold?


Scientists at the Common Cold Research Centre ran a series of tests. They got 69…….without colds to attend the centre, 70……..they were first given a questionnaire to complete. The questions measured the 71……of stress each of them was under. They were then deliberately injected with a cold virus 72……..left to see whether they developed a cold. After many people had been tested, the researchers looked for a link 73…….the measured stress level and the chances of catching a cold. They found that 74……the stress, the more likely the person was to catch a cold.


At the moment, it is not known why stress makes someone more likely to become ill, but now that the link has been found, researchers might be able to investigate 75……. . They may even find different ways of combating diseases.

Question 62.a. sometime
b. never
c. ever 
d. physically

Question 63.a. likely
b. able
c. capable
d. possible

Question 64.a. story
b. saying
c. tale
d. proverb

Question 65.a. for
b. with 
c. in
d. of

Question 66.a. that
b. whether
c. when 
d. why

Question 67.a. saying
b. to be saying
c. say
d. to say

Question 68.a. why
b. whether
c. that
d. how

Question 69.a. pioneers
b. characters
c. volunteers
d. beginners

Question 70.a. which
b. where
c. that
d. because

Question 71.a. number
b. amount
c. quantity
d. total

Question 72.a. and
b. which
c. therefore
d. but

Question 73.a. for
b. between
c. from
d. with

Question 74.a. highly
b. the highest
c. higher
d. the higher 

Question 75.a. mostly
b. farther
c. better
d. further

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions..

Question 76. He was driving so fast that he could have had an accident.


a. he didn’t have an accident although he was driving very fast.


b. an accident happened, and it was caused by his very fast driving.


c. if he had been driving very fast, he would have had  an accident.


d. he wasn’t driving fast enough to avoid an accident.

Question 77. Bill has no business going to Paris next December.


a. Bill went to Paris in December.
b. Bill runs a business in Paris next December.


c. Bill shouldn’t go to Paris next December.
d. Bill will open a business in Paris next December

Question 78. In the class of twenty, Jack is the third best student.


a. No other students in the class is as smart as Jack.


b. Two students in the class are smarter than Jack.


c. The class has only three smart students.


d. Jack is not as smart as  most of the other students.

Question 79. As far as I am concerned, you can do whatever you like.


a. You can do what you like providing that it is not too far.


b. In my opinion, you can do what you like.


c. What you like is not as much as what I am concerned about.


d. I am concerned about what you like.

Question 80. Jenny is so creative that we all can rely on her for original ideas.


a. Being creative, we can all rely on Jenny for original ideas.


b. Creative as Jenny is, we can rely on her for original ideas.


c. Jenny is such creative girl that we all can rely on her for original ideas.


d. So creative is Jenny that we all can rely on her for original ideas.

****************GOOD LUCK TO YOU*******************
TEST 4 - TEST FOR ENTRANCE UNIVERSITY EXAMINATION

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions

1. Over the last few months garages _________ the price of petrol three times.

A. have risen

B. have put up


C. raised


D. have gone up

2. “Could I speak to Alex, please?”     “________________   ”

A. This is Joe speaking
B. Can I take a message
C. Just a moment
D. I’m sorry, Alex’s not in
3. We _________ on our close friend on the way here. That’s why we are a bit late.

A. visited

B. dropped in


C. paid a visit


D. came across

4. It was so foggy that the driver couldn’t ____________ the traffic signs.

A. make out

B. break out


C. keep out


D. take out

5. Corporations have been donating more and more to __________ .

A. the needy

B. the need


C. the needy people

D. the needed

6. Don’t ________ to conclusions; we don’t yet know all the relevant facts.

A. run


B. rush



C. jump


D. hurry

7. Final year students ____________ attend lectures. It’s optional.

A. mustn’t

B. don’t have to

C. shouldn’t


D. ought to

8. If I were you, I _________ a car and have a look around the city.

A. hired

B. will hire


C. would hire


D. could have hired

9. He laughed in a very strange way, _________ everyone to turn round and look.

A. causing

B. making


C. allowing


D. attracting

10. _________ any employee be ill, they must call the office to inform their head of departure.

A. Were

B. Should


C. Had



D. If

11. I wasn’t properly dressed for the party and felt _________ about my appearance.

A. embarrass

B. embarrassment

C. embarrassing

D. embarrassed
12. “It was very kind of you to help me out, John”.  “______________”

A. You can say that again



B. I’m glad you like it

C. That was the least I could do


D. Thanks a million

13. I’m sorry, but the director___________ the office

A. already left

B. has left


C. had left


D. is leaving

14. The Citizen’s Center will give you legal advice free of ________

A. charge

B. money


C. price


D. payment

15. The price of petrol went up only a few days after the official denial that ___________ an increase in the price of petrol.

A. there would be
B. there is


C. there would have

D. had

16. Susan: “Sorry, Brian is not here”    Peter: “ _____________”

A. Would you like to leave a message?

B. Can I take a message then?

C. Can I speak to Brian, please?


D. Can I leave a message, then?

17. Young people __________ to succeed in life should work hard.

A. who wanting
B. want


C. wanting


D. wanted

18. He feels that his book may make people more aware ______ the role our emotions play in our life.

A. of


B. with



C. about


D. in

19. James stays at home every evening ___________ Friday.

A. but for

B. except


C. apart


D. without

20. ____________ is known to be good for our health.

A. Having taken exercise
B. Exercises

C. Exercises taken

D. Taking exercises

21. The children are so looking forward to the holiday, they can _________ wait.

A. never

B. hardly


C. rarely


D. seldom

22. IF Lucy’s car ___________ down, she would be here right now.

A. didn’t break
B. hadn’t broken

C. wouldn’t have been
D. doesn’t break

23. Could you phone me ___________ you arrive at grandmother’s so I don’t worry?

A. where


B. the time

C. the moment


D. the hour

24. I can’t believe that you ___________ all the three exercises! You just started five minutes ago.

A. have finished

B. have been finishing

C. finished

D. are finishing

25. Tom denied _________ for speeding and drunk driving.

A. that he had fined

B. having been fined

C. to be fined

D. fining

26. _________ advised on what and how to prepare for the interview, he might have got the job.

A. If he had


B. Unless he had been

C. Had he been
D. Were he to be

27. Tom: “Would you like another coffee?”      Jerry: “__________________”

A. I’d love one

B. Me, too

C. Very kind of your part 
D. It’s a pleasure

28. The polar bear’s ___________ depends on its ability to catch fish.

A. survival


B. survive


C. surviving

D. survivor

29. It was _____________ that I bought those books.


A. this shop


B. this shop where

C. at this shop

D. the shop

30. Most headaches can ___________ with aspirin unless they are severe

A. treat



B. cure



C. be cured

D. be treated

Mark the letter A, B, C or D on your answer sheet to show the underlined part needs correction in each of the questions.

31. Finished her household chores, Maria decided to do some shopping.

            A

B



C

D

32. To save money, Bill decided to live with his grandparents when attended college

A



B

C

D

33. Had the teacher realized that the students couldn’t understand him, he would speak louder. 

         A

                                                         B



    C

D
34. The very first night I was in Australia, I couldn’t have slept until early in the morning.

                   A

     B



C

      D

35. Follow vaporization, a reduction in temperature will result in condensation
                      A

                     B

            C
    D

Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the test in the position of the main stress in each of the following questions.

36. A. admire


B. ambitious


C. duration

 
D. category

37. A. embarrass

B. require


C. competent


D. maturity

38. A. caution


B. complaint


C. dependent


D. computer

39. A. suspect


B. influence


C. physical


D. character

40. A. emotional

B. quality


C. equality


D. controllable


Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

41. Paul fell ill, so he didn’t attend the conference.

A. Paul was supposed to have gone to the conference, but he fell ill

B. Although Paul fell ill, he didn’t attend the conference.

C. Because of he was ill, Paul didn’t attend the conference.

D. Paul didn’t attend the conference as a result of his ill.

42. I should really be starting my own business.

A. It’s about time I be starting my own business
        
B. It’s high time I was staring my own business

C. It’s time for me to have started my own business.        
D.  I’d rather be starting my own business.

43. Tom shouldn’t have left school so early.

A. Tom left school early and that was necessary.
        
B. It was not necessary for Tom to leave school early.

C. It was necessary that Tom not leave school early but he did       D. Tom had better not leave school early.

44. If it rains tomorrow, we won’t go.

A. We won’t go tomorrow because it will rain
B. We may go tomorrow, it depends on the weather.

C. If it didn’t rain tomorrow, we would go

D. It might rain tomorrow, we won’t go.

45. Someone stole Jim’s bike yesterday.

A. Jim’s bike has been stolen yesterday

B. Jim had someone steal his bike yesterday.

C. Jim’s bike is stolen




D. Jim had his bike stolen yesterday.

46. No matter what your requirement is, the Volvo answers it admirably.

A. The Volvo meets all your needs in life       B. Whatever your requirement, the Volvo meets it admirably.

C. The Volvo gives admirable answer to all your needs.      D. The Volvo meets none of your requirement admirably.

47. Despite the weatherman’s forecast of rain for tomorrow, they will go camping.

A. They planned to go on camping, but the weatherman said it would rain

B. The weatherman forecasted rain for tomorrow even though they are going camping

C. They decided to go camping because it might rain tomorrow.

D. Even though the weatherman predicted rain, they will go camping tomorrow.

48. “Why don’t you ask your parents for advice?”, said Tom

A. Tom wanted to know the reason why I don’t ask my parents for advice.

B. To advised me asking my parents for advice.

C. Tom suggested to me that I ask my parents for advice.

D. To told me to ask my parents for advice.

49. People on Jeju Island have a unique culture.

A. People on Jeju Island have the same culture as other people in the world.

B. The culture of the people on Jeju Island differs from that of any 

C. No people in the world have the same culture

D. Only the people in Jeju Island have a unique culture.

50. “I lost my car keys”, said Peter.

A. Peter told that he had lost his car keys.

B. Peter said me that he had lost his car keys.

C. Peter said that he has lost his car keys.

D. Peter told me that he had lost his car keys.

Read the following passage and mark A, B , C or D on your answer sheet to indicate the correct word for each of the blanks.


Technology is used for the (51) ______ of human needs and production is increased by technology. Science and technology, the (52) __________ concerned with know- what and latter with know- how, are continuously conditioning man’s world view and have (53) ______ material standards beyond any earlier vision of man’s potential. However, in this science and technology are too much concerned with quantity at the expense of (54) ________. technology has made (55) _______ the mass production of articles and mass production seems to have reduced the quality of goods. If a motor-car in the past was made to last, today it is made to be thrown away and (56) _______. While the quality in terms of new features has improved, (57) __________is of little concern to manufacturers. In their drive to expand markets and be competitive, manufacturers ignore quality and are concerned with quantity or the number of products that can be sold. Evolving technology encourages the economy of economy of transience which is fast replacing the economy on permanence of the old world. Medical technology prolongs life and reduces the mortality rate, but the quality of life (58)_______ . Genetics has increased agricultural productivity, and the Green Revolution that it set in motion had resulted in high- yielding variety of wheat, rice paddy, etc., but they (59)​​​​​________ the quality which the traditional variety, through low- yielding, had. Alvin Toffler in his Future Shock considers the lowering of costs of manufacture and increased demand as factors (60)_________ for the sacrifice of quality. Science and technology should be concerned equally with quality and quantity. This concern is of great importance since science and technology are to make further strides.

51. A. satisfaction

B. requirement


C. disappoinment

D. demand

52. A. before


B. older


C. former


D. first

53. A. raised


B. risen


C. lifted


D. aroused

54. A. number


B. value


C. evaluation


D. quality

55. A. it possible

B. possible


C. available


D. impossible

56. A. replaced

B. refunded


C. repaired


D. refilled

57. A. endurance

B. strength


C. duration


D. durability

58. A. deteriorates

B. diminished


C. loosens


D. devastates

59. A. insufficient

B. shortage


C. lack


D. miss

60. A. used


B. responsible

C. asking


D. explaining

Read the following passage and mark A, B, C or D on your answer sheet to indicate the correct answer to each of the questions

MODERN SURGERY


The need for a surgical operation , especially an emergency operation, almost always comes as a severe shock to the patient and his family. Despite modern advances, most people still have an irrational fear of hospitals and anesthetics. Patients do not often believe they really need surgery- cutting into a part of the body as opposed to treatment with drugs. 


In the early years of the twentieth century there was little specialisation in surgery. A good surgeon was capable of performing almost every operation that had been devised up to that time. Today the situation is different. Operations are now being carried out that were not even dreamed of 60 years ago. The heart can be safely opened and its valves required. Clogged blood vessels can be cleaned out, and broken ones mended or replaced. A lung, the whole stomach, or even part of the brain can be removed and still permit the patient to live a comfortable and satisfactory life. However, not every surgeon wants to, or is qualified to carry out every type of modern operation. The scope of surgery has increased remarkably. Its safety has increased too. The hospital stay after surgery has been shortened to as a week for most major operation.


Many developments in modern surgery are almost incredible. They include the replacement of damaged blood vessels with stimulated ones made of plastic; the replacement of heart valves with plastic substitutes; the transplanting of tissues such as the lens of the eye; the invention of the artificial kidney to clean the blood of poisons at regular intervals and the development of heart and lung machines to keep patients alive during very long operations. All theses things open a hopeful vista for the future of surgery.


One of the most revolutionary areas of modern surgery is that of organ transplants. Until a few years ago, no person, except an identical twin, was able to accept into his body the tissues of another person without reacting against them and eventually killing them. recently, however, it has been discovered that with the use of X-ray and special drugs, it is possible to graft tissues from one person to another which will survive for periods of a year or more. Kidney’s have been successfully transplanted between non- identical twins. Heart and lung transplants have been reasonably  successful in animals, though rejection problems in humans have yet to be solved.


“Spare parts” surgery, the simple routine replacement of all worn-out organs by new ones, is still a dream of the distant future. As yet, surgery is not ready for such miracles. In the meantime, you can be happy if your doctor says to you: “Yes, I think it is possible to operate ”.

61. Most people are afraid of being operated on _______________
A. in spite of improvements in modern surgery
            B. because they think modern drugs are dangerous

C. because they do not believe they need anesthetics

D. unless it is an emergency operation

62. Surgeons in the early years of the 20th century, compared with modern ones, ____________
A. has less to learn about surgery



B. needed more knowledge

C. could perform every operation known today

D. were more trusted by their parents.

63. Open heart surgery has been possible​​​​​​​​​​​ ____________________.
A. only in the last sixty years




B. from prehistoric

C. since the nineteenth century



D. since the invention of valves

64. A patient can still live a comfortable and satisfactory life, even after the removal of ___________
A. his brain


B. his lungs

    C. a major organ such as the stomach or one lung

D. part of the stomach or the whole liver

65. Modern surgeons ___________________
A. do not like to perform operations of the new type

B. are not as highly as the new type

C. are obliged to specialize more than their predecessors
D. often perform operations which are not really needed

66. The word irrational in the passage can best be replaced by ____________
A. logical

B. understandable

C. unreasonable

D. unusual

67. Some of the more astonishing innovations in modern surgery include_____________
A. ear, nose and throat transplants



B. valves plastic hearts

C. les transplants





D. plastic heart valves

68. The main difficult with organ transplants is _______________
A. it is difficult to find organs of exactly the same size


B. their body’s tendency to reject alien tissues

C. only identical twins can give permission for their organs to be exchanged

D. the patient is not allowed to use drugs after them

69. “Spare parts” surgery_____________________
A. will be available in the near future



B. is only possible for the animals

C. has been replaced by modern drug treatment

D. has yet to become a reality

70. You can be happy if your surgeon can operate because it means ___________
A. he thinks your condition may be curable


B. he is s good doctor

C. he knows you will survive




D. you are getting better already

Read the following passage and mark A, B, C or D on your answer sheet to indicate the correct answer to each of the questions

PANDEMIC DISEASES


Diseases are a natural part of life on earth. If there were no diseases, the population would grow too quickly, and there would not be enough food or other resources. so in a way, diseases are natural’s way of keeping the Earth in balance. But sometimes they spread very quickly and kill large numbers of people. For example, in 1918, an outbreak of the flu spread across the world, killing over 25 million people only six moths. Such terrible outbreaks of a disease are called pandemics.  


Pandemics happen when a disease changes in a way that our bodies are not prepared to fight. in 1918, a new type of flu virus appeared. Or bodies had no way to fight this new flu virus, and so it spread very quickly and killed large numbers of people.  While there have been many different pandemic diseases throughout history, all of them have a new things in common.


First, all pandemic diseases spread from one person to another very easily.


Second, while they may kill many people, they generally do not kill people very quickly. A good example of this would be the Marburg virus. The Marburg virus is an extremely infectious disease. In addition, it is deadly.  About 70 -80% of all people who get the Marburg virus died from the disease. However, the Marburg virus has not become a pandemic because most people die within three days of getting the disease. This means that the virus does not have enough time to spread a large number of people. The flu virus of 1918, on the other hand, generally took about a week to ten days to kill its victims, so it had more time to spread.


While we may never be able to completely stop pandemics, we can make them less common. Doctors carefully monitor new diseases that they fear could become pandemics. For example, in 2002, and 2003, doctors carefully watched SARS. Their health warnings may have prevented SARS from becoming a pandemic.

71. This passage is mainly about______________
A. how to prevent pandemic disease



B. pandemic disease

C. pandemic disease throughout history


D. why pandemics happen

72. According to paragraph 1, how are diseases a natural part of life on Earth?

A. They prevent pandemics




B. They help control the population

C. They help the world grow quickly



D. They kill too many people

73. Based on the information in the passage the term pandemics can be explained as ___________

A. diseases with no cure




B. a deadly kind of flu

C. diseases that spread quickly and kill large numbers of people


D. new disease like SARS or the Marburg virus

74. According to the passage, what causes pandemics?

A. Changes in a disease that body cannot fight
B. Careless doctors who do not watch the spread of disease

C. Population growth that the world cannot support
D. The failure to make new medicines

75. According to the passage, all of the following are true of the 1918 flu pandemic EXCEPT that ______
A. it involved a new kind of flu virus



B. it killed over 25 million people

C. it was the last pandemic in history



D. it took a little over a week to kill its victims

76. The word it in the passage refers to ____________
A. disease

B. flu virus


C. pandemics


D. bodies

77. Which of the following is mentioned as a common feature of all pandemic disease?

A. They spread from people to people very quickly

B. It kill may people very quickly

C. They do not kill people very quickly


D. They kill all the victims

78. According to the paragraph 3, why hasn’t Marburg virus become a pandemic?

A. It is not a deadly disease



              
B. It does not spread from person to person easily

C. Doctors have prevented it from becoming a pandemic
  
D. It kills people too quickly

79. The word monitor in the passage is closest in meaning to __________
A. fight

B. prevent


C. watch


D. avoid

80. The author mentions SARS in order to ___________
A. give an example of a highly dangerous disease
      
B. suggest that SARS will never become a pandemic

C. give an example of the successful prevention of a pandemic


D. suggest that there may be a new pandemic soon.
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Mark the letter A, B, C,or  D on your answer sheet to indicate the word or phrase that is closest in 

meaning to the underlined part in each of the following questions from 1 to 5. 

Question 1: There were so many members of the political party who had gone against the leader that he 

resigned. 

A. apposed                      B. insisted
C. invited

D. opposed



a. Question 2: If petrol price go up any more, I shall have to use a bicycle.

A. develop
B. ascend
C. raise

D. increase


Question 3: I didn’t go to work this morning . I stayed at home because of the morning rain.


A. thanks to 
B. on account of 
C. in spite of

D. in addition to 

Question 4: The new cow boy-film catches the fancy of the children.


A. attracts
B. satisfies
C. surprises

D. amuses

Question 5: Now I understand why you moved out of that house.

A. I am surprised
B. it frustrates me
C. I am intrigued
D. it makes sense to me

Mark the letter A, B, C,or D on your answer sheet to indicate the sentence that is best written based

on the words provided in the following questions from 6 to 10 .   

Question 6: Hardly / I / go back / sleep when / loud noise upstairs / wake / up. 

A. Hardly had I gone back to sleep when a loud noise upstairs wake me up.
B. Hardly I had gone back to sleep then a loud noise upstairs woke me up.
C. Hardly had I gone back to sleep than a loud noise upstairs woke me up. 
D. Hardly had I gone back to sleep when a loud noise upstairs woke me up. 

Question 7: way / protect / all the wildlife / must / find/ many species / in danger of extiction

A. A way is protected for all the wildlife, finding any species which are in danger of extinction. 
B. A way protects all the wildlife that are found among many species in danger of extinction. 
C. A way of protecting all the wildlife must be found as many species are in danger of extinction.

D. A way to protect all the wildlife must find as many species are in danger of extinction. 

Question 8: factory/ close down/ account/ economic depression

A. The factory had to close down on account for the economic depression.

B. The factory  was closed down on account of the economic depression.

C. The factory had to close down on account by the economic depression.

D. The factory had to close down on account  of the economic depression.

Question 9: I/ not think/ my brother/ make/ mistake/ purpose.

A. I don’t think that my brother made that mistake for purpose.

B. I don’t think that my brother made that mistake on purpose.

C. I don’t think that my brother made that mistake with purpose.

D. I don’t think that my brother made that mistake at purpose.

Question 10: you/ know/ Linda/ engage/ friend / mine?

A. Do you know that Linda will be engaged with a friend of mine?

B. Do you know that Linda will be engaged up a friend of mine?

C. Do you know that Linda will be engaged to a friend of mine?

D. Do you know that Linda will be engaged for a friend of mine?

Mark the letter A, B, C,or  D on your answer sheet to indicate the word that differs from the rest in 

the position of the main stress in each of the following questions  from 11 to 15.

Question 11:  
A. contaminate       
B. artificial       C. intelligent      
D. encouragement

Question 12:  
A. argument       
B. employee     C. category     
D. difference

Question 13: 
A. appointment      
B. strawberry   C. powerful      
D. cucumber

Question 14: 
A. promise      

B. relieve      
 C. succeed      
D. survive

Question 15: 
A. salary

B. essential
 C. memory

D. interview

Mark the letter A, B, C, or  D on your answer sheet to show the underlined part that needs 

correction from  16 to 20.      

Question 16:  It is believed that in the near future robots will be used to doing things such as cooking.

                                A                           B                                           C                               D                 

Question 17: John announced that he could not longer tolerate the conditions of the contract under which

                                          A                                    B                                          C                             D

he was working.     

Question 18: After driving for twenty miles, he suddenly realised that he has been driving in the wrong 

                             A 




      B                                    C                        D

direction. 

Question 19: I think she will be suitable for the work because she has been working like a teacher for a 

                                            A                    B                                                 C                D  

long time. 

Question 20: Passengers are required to arrive to the gate fifteen minutes before departure time. 

                                                 A                 B                                                   C             D    

Read the following passage and mark the letter A,B,C or D on your answer sheet to indicate the correct  answer to each of the following questions from 21 to 30 .

If you are an environmentalist, plastic is a word you tend to say with a sneer or snarl. It has become a symbol of our wasteful, throw-away society. But there seems little (21) ______ it is here to stay, and the truth is, of course, that plastics have brought enormous (22) ______ , even environmental ones. It’s not really the plastics themselves that are the environmental evil – it’s the way society chooses to use abuse them.

Almost all the 50 or so different kinds of modern plastics are made from oil, gas, or coal-non-renewable natural (23) ______ . We (24) _______ well over three million tons of the stuff in Britain each year and, sooner or later, most of it is thrown away. A high (25) _______ of our annual consumption is in the (26) ________ of packaging, and this (27) ________ about seven per cent by weight, of our domestic (28) ________ . Almost all of it could be recycled, but very little of it is, though the plastic recycling (29) _______ is growing fast.

The plastics themselves are extremely energy-rich. They have a higher caloric value than coal and one method of “recovery” strongly favored by the plastic manufacturers is the (30) _______ 0f waste plastic into fuel. 

Question 21.  A. doubt        

B. evidence     

C. concern      

D. likelihood

Question 22.  A. pleasures      
B. benefits      

C. savings       

D. profits

Question 23.  A. processes        
B. products     

C. fuels        

D. resources

Question 24.  A. remove         
B. consume         
C. change         
D. import

Question 25.  A. proportion    
B. portion       

C. amount        
D. rate

Question 26.  A. way

        
B. form       

C. kind       

D. type

Question 27.  A. takes        

B. makes        

C. carries        

D. constitutes

Question 28.  A. goods        

B. refuse        

C. rubble        

D. requirements

Question 29.  A. industry      

B. manufacture    
C. factory        
D. plant

Question 30.  A. melting       

B. change        

C. conversion   
D. replacement

Mark the letter A, B, C, or  D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions from 31 to 35 .

Question 31. “Leave my house now or I’ll call the police!” shouted the lady to the man.

A. The lady threatened to call the police if the man didn’t leave her house.

B. The lady said that she would call the police if the man didn’t leave her house.

C. The lady told the man that she would call the police if he didn’t leave her house.

D. The lady informed the man that she would call the police if he didn’t leave her house.

Question 32. The leader of the group came up with the best solution to the problem.  

A. The leader of the group could solved the problem easily.

B. No one could solve the problem except the leader of the group.

C. The best solution to the problem was thought of by the leader of the group.

D. The best solution to the problem was carried out by the leader of the group.

Question 33. But for his father’s early retirement, Richard wouldn’t have taken over the family business.

A. If it hadn’t been for his father’s early retirement, Richard wouldn’t have taken over the family business.

B. Richard only took over the family business because his farther decided to retire early.

C. Had it not been for his father’s early retirement, Richard wouldn’t have taken over the family business.

D. All are correct

Question 34. Mary isn’t used to getting up late at night.

A. Mary isn’t accustomed to getting up late at night.

B. Mary doesn’t like getting up late at night.

C. Mary used to get up late at night when she was young.

D. Mary usually get up late at night.

Question 35.  “ It was you and only you who stole the cake from the fridge,” my mother told my sister.

A. My mother criticized my sister for having stolen the cake from the bridge.

B. My mother blamed my sister for having stolen the cake from the bridge.

C. My mother accused my sister for having stolen the cake from the bridge.

D. My mother accused my sister of having stolen the cake from the bridge.

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct  answer to each of the following questions from 36 to 45.

In the United States, presidential elections are held in years evenly divisible by four (1888, 1900, 1964, etc.). Since 1840, American presidents elected in years ending with zero have died in office, with one exception. William H. Harrison, the man who served the shortest term, died of pneumonia only several weeks after his inauguration. 

Abraham Lincoln was one of four presidents who were assassinated. He was elected in 1860, and his untimely death came just five years later. James A. Garfield, a former Union army general from Ohio, was shot during his first year in office (1881) by a man to whom he wouldn't give a job. While in his second term of office (1901), William McKinley, another Ohioan, attended the Pan-American Exposition in Buffalo, New York. During the reception, he was assassinated while shaking hands with some of the guests. John F. Kennedy was assassinated in 1963 in Dallas only three years after his election. 

Three years after his election in 1920, Warren G, Harding died in office. Although it was never proved, many believe he was poisoned. Franklin D. Roosevelt was elected four times (1932, 1936, 1940 and 1944), the only man to serve so long a term. He had contracted polio in 1921 and eventually died of the illness in 1945. 

Ronald Reagan, who was elected in 1980 and reelected four years later, suffered an assassination attempt but did not succumb to the assassin's bullets. He was the first to break the long chain of unfortunate events. Will the candidate in the election of 2020 also be as lucky? 

Question 36. All of the following were election years EXCEPT ____ 

A. 1860 






B. 1960 




C.1888 






D.1963 

Question 37. Which president served the shortest term in office? 

A. Abraham Lincoln 





B. Warren G. Harding



C. William McKinley 




D. William H. Harrison 

Question 38. Which of the following is true? 

A. All presidents elected in years ending in zero have died in office. 

B. Only presidents from Ohio have died in office. 

C. Franklin D. Roosevelt completed four terms as president. 

D. Four American presidents have been assassinated. 

Question 39. How many presidents elected in years ending in zero since 1840 have died in office? 

A. 7 




B. 5 


C. 4 


D. 3 

Question 40. The word "inauguration" in the first paragraph means most nearly the same as 

A. election 






B. acceptance speech 



C. swearing-in ceremony 




D. campaign 

Question 41. All of the following presidents were assassinated EXCEPT ____ 

A. John F. Kennedy 





B. Franklin D. Roosevelt 


C. Abraham Lincoln 





D. James A. Garfield 

Question 42. The word "assassinated" in the second paragraph is closest in meaning to 

A. murdered 






B. decorated 




C. honored 






D. sickened
Question 43. The word "whom" in the second paragraph refers to ____ 

A. Garfield 






B. Garfield's assassin 



C. a Union army general 




D. McKinley 

Question 44. In the third paragraph, "contracted" is closest in meaning to ____ 

A. communicated about 




B. developed 




C. agree about 





D. notified 

Question 45. How long did Warren G, Harding work as a president? 

A. 2 years 


B. 3 months 


C. 3 years 


D. 4 years 

Mark the letter A, B, C,or D on your answer sheet to indicate the correct answer to each of the following questions from 46 to 70. 

Question 46: The doctors know that it is very difficult to save the patient's life, _______they will try their best.

A. but 



B. although     

C. despite 


D. however

Question 47: By the time the boss comes back from England, the work _______.

A. will have been finishing     

B. will be finishing 


C. will have been finished      

D. will be finished

Question 48:  -" _______"



- "Yes. I'd like to buy a camera."

A. Do you look for something?

B. Excuse me. Can I help you?

C. Excuse me. Do you want to buy it?
D. Excuse me. Can you help me buy something? 

Question 49:  She’d rather ________ a hot beverage during a meal.

A. me not to have

B. me did not have 
C. I did not have

D. I do not have

Question 50:  - “Do you like your new job, Jane?”



- "Yes, but my employer insisted that I _______on time."

A. am          



B. be           

C. had been     

D. was 

Question 51: ______ with her boyfriend yesterday, she doesn't want to answer his phone call. 

A. Having quarreled 





B. Because having quarreled 

C. Because of she quarreled  


D. Had quarreled 

Question 52: Everyone in both cars _____ injured in the accident last night, ______? 

A. were / weren't they 




B. was / weren't they 


C. was / wasn't he? 





D. were / were they 

Question 53: He ________ in trouble with the police now if he had listened to me in the first place.

A. isn’t


 
B. won’t be 

C. wouldn’t be 

D. wouldn’t have been

Question 54: She ________ the flowers. If she had, they wouldn’t have died.

A. may not have watered



B. shouldn’t have watered


C. can’t have watered 




D. might not have watered 

Question 55: The young girl ______ down completely on hearing of her father’s death.

A. broke

B. fell 


C. turned

     
D. went


Question 56: - “I can’t see the stage very well from here.”

                      - “ _______________ .”

A. Neither can’t I.
B. So do I 

C. Neither I can 
     
D. I can’t, either

Question 57: The mother ______ her little son, She gives him whatever he wants.

A. spoils

B. harms

C. ruins

    
D. damages

Question 58: Quite soon, the world is going to _________ energy resources.

A. get into 

B. run out of

C. keep up with

D. come up against

Question 59: Is this the address  ________ you want the package sent?

A. that 


B. where 

C. to which 


D. which


Question 60: . “Don’t forget to do as I have told you.”         “_____________ “

A. Yes, I won’t 
B. Yes, I will

C. No, I won’t


D. No, I will remember

Question 61:
_______, he couldn’t finish that test in 60 minutes.

A. As the boy was intelligent


B. Intelligent as the boy was 


C. As intelligent the boy was


D. Intelligent as was the boy


Question 62: Many of the pictures sent from outer space are presently on ______ in the public library. 

A. duty   
B. exchange  
C. display  
D. account 

Question 63: _________________, Mozart was an accomplished composer while still a child.

A. Whatever it seems remarkable how.
B. No matter how seems it remarkable.

C. No matter how it seems remarkable.
D. No matter how remarkable it seems. 

Question 64:  You may borrow as many books as you like, provided you show them to ________ is at the desk.

A. whoever

B. whom 

C. who



 D. that

Question 65: Take the number 7 bus and get ________ at Forest Road.

A. down
B. up

C. off 

D. outside

Question 66: Many young people travel all over the world, and then do all kinds of jobs before they __________.

A. touch down
B. settle down 
C. put down 
D. go down

Question 67:
________ students were injured. They all came back unharmed after the long trip.

A. Not any of 
B. Not any of the 
C. None of the 
D. None of  


Question 68: They discussed it for a while and then they __________ an agreement.

A. decided
B. had 
C. approached 
D. reached 

Question 69: People prefer watching films on TV these days _____ going to the cinema.

A. more than              B. to   
C. rather than 
D. than  

Question 70: _______ the airport, I was very worried to find that no one ______ for me.

A. On arriving at/ had waited


B. On arriving at/ was waiting

C. On arriving in/ had waited 

D. When arriving at/ was waiting

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct  answer to each of the following questions from 71 to 80.


Long ago prehistoric man began to domesticate a number of wild plants and animals for his own use. This not only provided more abundant food but also allowed more people to live on a smaller plot of ground. We tend to forget that all of our present-day pets, livestock, and food plants were taken from the wild and developed into the forms we know today.

 
As centuries passed and human cultures evolved and blossomed, humans began to organise their knowledge of nature into the broad field of natural history. One aspect of early natural history concerned the use of plants for drugs and medicine. The early herbalists sometimes overworked their imaginations in this respect. For example, it was widely believed that a plant or part of a plant that resembles an internal organ would cure ailments of that organ, Thus, an extract made from a heart-shaped leaf might be prescribed for a person suffering from heart problems.

 
Nevertheless, the overall contributions of these early observers provided the rudiments of our present knowledge of drugs and their uses. 

Question 71: What does this passage mainly discuss?

A. Cures from plants.  


B. The beginning of natural history. 

C. Prehistoric man.  

D. Early plants and animals. 

Question 72: Domestication of plants and animals probably occurred because of ______ .

A. need for more readily available food 
B. lack of wild animals and plants 
C. early mans power as a hunter 

D. the desire of prehistoric man to be nomadic

Question 73: The word “This” in the first paragraph refers to ________ .

A. providing food for man 

B. man’s domestication of plants and animals 

C. mans ability to live on a small plot of land 
D. the earliest condition of prehistoric man 

Question 74: The word “blossomed” in the second paragraph is closest in meaning to ______ .

A. produced flowers  


B. changed  


C. learned  



D. flourished

Question 75: An herbalist is which of the following?

A. A dreamer.  
  


B. An early historian.  


C. Someone who uses plants in medicine.  
D. A farmer. 

Question 76: The phrase “in this respect” in the second paragraph refers to ______.

A. the development of human culture 
B. the development of the field of natural history 

C. the use of plants for drugs and medicine 
D. the origin of knowledge of nature

Question 77: The word “extract” in the second paragraph is closest in meaning to ________.

A. design  



B. substance  


C. flavour  



D. ailment

Question 78: Which of the following can be inferred from the passage?

A. The shape of a plant is indicative of its ability to cure ailments of a similarly shaped organ. 

B. There is little relation between a cure for illness and the physical shape of a plant. 

C. The work of early herbalists has nothing to do with present day medicine. 

D. Early herbalists were unimaginative. 

Question 79: The word “rudiments” in the last paragraph is closest in meaning to _______.

A. beginnings  


B. history  



C. requirements  


D. proofs

Question 80: The passage would most likely lead to a more specific discussion in the field of _____ .

A. zoology  


                      B. biology  


C. anatomy  


                      D. astrology

-----------THE END----------
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Passage 1. Read the following passage and choose the best answer (A, B, C or D)

   Over the past 600 years, English has grown from a language of few speakers to become the dominant language of international communication. English as we know it today emerged around 1350, after having incorporated many elements of French that were introduced following the Norman invasion of 1066. Until the 1600s, English was, for the most part, spoken only in England and had not extended even as far as Wales, Scotland, or Ireland. However, during the course of the next two centuries, English began to spread around the globe as a result of explosion, trade ( including slave trade), colonization, and missionary work. Thus, slave enclaves of English speakers became established and grew in various parts of the world. As these communities proliferated , English gradually became the primary language of international business, banking, and diplomacy.

  Currently, about 80 percent of the information stored on computer systems worldwide is in English. Two – thirds of the world’s science writing is in English, and English is the main language of technology , advertising, media, international airports, and traffic controllers. Today there are more than 700 million English users in the world, and over half of these are nonnative speakers, constituting the largest number of nonnative users in the world.

Question 1. What is the main topic of this passage?


A. the number of nonnative users of English


B. the French influence on the English language


C. the expansion of English as an international language


D. the use of English for science and technology

Question 2. The word ‘ emerged’ in the first paragraph could best be replaced by which of the following?


A. appeared 

B. hailed 

C. frequented 

D. engaged

Question 3. Approximately when did English begin to be used beyond England?


A. in 1066 

B. around 1350 
C. before 1600 
D. after 1600

Question 4. According to the passage , all of the following contributed to the spread of English around the world EXCEPT……………. .


A. the slave trade 
B. missionaries
C. colonization 
D. the Norman invasion

Question 5. As used in the first paragraph , which of the following is closest in meaning to the word ‘ course’?


A. subject 

B. policy 

C. time 

D. track

Question 6. As used in the first paragraph , which of the following is closest in meaning to the word ‘ enclaves’?


A. communities 
B. organizations 
C. regions 

D. countries

Question 7. The word ‘ proliferated’ in the first paragraph is closest in meaning to which of the following?


A. prospered 

B. organized 

C. disbanded 

D. expanded

Question 8. The word ‘ stored’ in the second paragraph is closest in meaning to which of the following?


A. bought 

B. saved 

C. spent 

D. valued

Question 9. The word ‘ constituting’ in the second paragraph is closest in meaning to which of the following?


A. looking over 
B. setting down 
C. doing in 

D. making up

Question 10. According to the passage, approximately how many nonnative users of English are there in the world today?


A. a quarter million 
B. half a million 
C. 350 million 
D. 700 million

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions or do as directed.

Question 11. In the West, the birth of a girl is welcomed with an enthusiasm……………to that of a boy.


A. equally 

B. equal 

C. they are equal 
D. and equal

Question 12. –A: “ You look nice in that red hat.” 
-B: “…………………”


A. It’s nice of you to say so.


B. Am I? Thanks.


C. Oh, poor me. 



D. I am interesting to hear that.

Question 13. Some of my friends are…………….reporters.


A. newspapers’
B. newspaper’s 
C. newspapers 
D. newspaper

Question 14. The government is expected to….………steps against the unemployment.


A. use 


B. make 

C. take 

D. apply

Question 15. I think I should have……………...your mother while I was passing.


A. dropped in on 
B. come up with
C. got on with 

D. run into

Question 16. But for his help, I………………… .


A. should not have succeeded 


B. had not succeeded


C. did not succeed



D. would succeed

Question 17. The dentist had to …………..the tooth as it was badly decayed.


A. put off

B. extract

C. extricate 

D. eradicate

Question 18. She ran a comb………………..her hair.


A. on 


B. through 

C. in 


D. above

Question 19. Mr. Dawson was given the award in…………….of her services to the hospital.


A. spite 

B. charge 

C. recognition 

D. sight

Question 20. It is imperative that this letter…………….immediately.


A were sent 

B. sent 

C. was sent 

D. be sent

-Mark the letter A, B, C or D on your answer sheet to indicate the best sentence made from these given words. ( 21 – 25 )

Question 21. They / ask / lock / door / before / leave / every day.


A. They are asked to lock the door before they leaving every day.


B. They asked to lock the door before leaving every day.


C. They ask to lock the door before they leave every day.


D. They are asked to lock the door before leaving every day.

Question 22. Only / this way / make / laws / effective.


A. Only with this way we can make our laws effective.


B. Only this way can we make our laws effective.


C. Only by this way can we make our laws effective.


D. Only with this way can we make our laws effective.

Question 23. secretary / be / responsible / manager / serious mistakes.



A. The new secretary is responsible for the manager to the serious mistakes.


B. The new secretary is responsible for the manager for the serious mistakes.


C. The new secretary is responsible to  the manager for the serious mistakes.


D. The new secretary is responsible to the manager to the serious mistakes.

Question 24. bridge / build / 50 years ago / collapse / last storm.


A. The bridge built 50 years ago was collapsed in the last storm.


B. The bridge which built 50 years ago was collapsed in the last storm.


C. The bridge built 50 years ago has collapsed in the last storm.


D. The bridge built 50 years ago collapsed in the last storm.

Question 25. I / rather / you / not cheat / exam / this year.


A. I’d rather you didn’t cheat any exam this year.


B. I’d rather you shouldn’t  cheat any exam this year.


C. I’d rather you don’t  cheat any exam this year.


D. I’d rather you not cheat any exam this year

Question 26. Choose the word whose underlined part is pronounced differently from the others.

A. think

B. that


C. three 

D. thank

Question 27. Choose the word whose underlined part is pronounced differently from the others.

A. devotion  
 
B. suggestion 

C. congestion 

D. question

Question 28. Choose the word whose underlined part is pronounced differently from the others.

A. decided 
 
B. hatred 

C. sacred 

D. warned
Question 29. Choose the word which has the different stress from the others.

A. interest

 B. influential 

C. pleasure 

D. selfishness

Question 30. Choose the word which has the different stress from the others .

            A. between

 B. pursuit 

C. changeable 

D. concerned

Passage 2. Read the following passage and choose the best answer (A, B, C or D)

    After two decades of growing student enrollments and economic prosperity , business schools in the United States have started to face harder times. Only Harvard’s MBA School has shown a substantial increase in enrollments in recent years. Both Princeton and Stanford have seen decreases in their enrollments. Since 1990, the number of people receiving Masters in Business Administration (MBA) degrees, has dropped about 3 percent to 75,000, and the trend of lower enrollment rates is expected to continue.

   There are two factors causing this decrease in students seeking an MBA degree. The first one is that many graduates of four-year colleges are finding that an MBA degree does not guarantee a plush job on Wall Street or in other financial districts of major American cities . Many of the entry-level management jobs are for students graduating with Master of Arts degrees in English and the humanities as well as those holding MBA degrees. Students have asked the question, “ Is an MBA degree really what I need to be best prepared for getting a good job?” The second major factor has been the cutting of American payrolls and the lower number of entry-level jobs being offered. Business needs are changing , and MBA schools are struggling to meet the new demands.

Question 31. What is the main focus of this passage?


A. Jobs on Wall Street


B. Types of graduate degrees


C. Changes in enrollment for MBA schools
D. How schools are changing to reflect the economy

Question 32. The phrase “two decades” in the first paragraph refers to a period of……………. .


A. 10 years 

B. 20 years 

C. 50 years 

D. 100 years

Question 33. The word “prosperity” in the first paragraph could best be replaced by……………… .


A. success 

B. surplus 

C. Nurturing 

D. Education

Question 34. Which of the following business schools has NOT shown a decrease in enrollment?


A. Princeton 

B. Harvard 

C. Stanford 

D. A and B are correct

Question 35. The phrase “ trend of ” in the first paragraph is closest in meaning to which of the following?


A. reluctance of 
B. drawback to 
C. movement toward 
D. extraction from

Question 36. As used in the second paragraph, the word “seeking” could best be replaced by which of the following?


A. examining 

B. avoiding 

C. seizing 

D. pursuing

Question 37. Which of the following descriptions most likely applies to Wall Street?


A. A centre for international affairs

B. A major financial centre


C. A shopping district 


D. A neighborhood in New York

Question 38. According to the passage, what are two causes of declining business school enrollment?


A. Lack of necessity for an MBA and an economic recession


B. Low salary and foreign competition


C. Fewer MBA schools and fewer entry-level jobs


D. Declining population and economic prosperity

Question 39. The first paragraph is mainly concerned with which of the following?


A. factors contributing to the decline in MBA students


B. A current trend affecting the nation’s business schools


C. The difference between Harvard, Princeton, and Stanford


D. Two decades of hard times for business schools

Question 40. As used in the second paragraph, the word “ struggling” is closest in meaning to………… .


A. evolving 

B. plunging 

C. starting 

D. striving

Question 41. Mark the letter A, B, C or D on your answer sheet to show the underlined part that needs correcting.

   -The discovery (A) of gold in the Klondike attracted  (B)thousands (C)  interested in (D)  doing a fortune.

Question 42. Mark the letter A, B, C or D on your answer sheet to show the underlined part that needs correcting.

   - (A) Ballet takes years of  (B)  practise to master . So, children  (C) begin studing  (D) as early as eight years old.

Question 43. Mark the letter A, B, C or D on your answer sheet to show the underlined part that needs correcting.

   - The (A) most natural form of  nutrition for (B) new-born (C)  infant is  (D) breast feeding.

Question 44. Mark the letter A, B, C or D on your answer sheet to show the underlined part that needs correcting.
   - (A)  Physicists are scientists  (B)whose study matter (C) and energy , as well as their (D)  patterns of interaction.

Question 45. Mark the letter A, B, C or D on your answer sheet to show the underlined part that needs correcting.

   - Scientists are (A) still (B) uncertain of (C) what the universe originated (D) millions of years.  

Question 46. I’m sorry. I couldn’t come to your party last night.


A. Excuse me. 


B. . That’s all right.


C. You’re welcome. 


D. What a pity!

Question 47. Hung: .................................. .

    Hoa : Thanks. I’m glad you like it. My sister gave it to me yesterday.

A. What a fashionable dress you are wearing!

B. Oh! I like your fashionable dress.

C. I think you have a fashionable dress.

D. Your fashionable must be expensive.

Question 48. The bank won’t lend you the money without some…………….. that you will pay it back.

A. profit 

B. interest 

C. charge 

D. guarantee

Question 49. ……………of all the staff, I would like to wish you a happy retirement.

A. Instead 

B. In place 

C. On behalf 

D. On account

Question 50. Just keep………………on the baby while I cook the supper, will you?

A. a look 

B. a glance 

C. an eye 

D. a care

Question 51. I ……………badminton before. This is the first time I …..............to play it..

A. have never played / tried 

B. have ever played / have tried

C. have played / have tried

D. have never played / have tried

Question 52. Are you learning your lesson ? No , I……………it.

A. finished

B. finish

C. have finished
D. have been finished

Question 53. In one year’s time , she ……………in this company for 15 years.

A. will be working


B. will have been working

C. will work



D. has worked


Question 54. He is tired now .He ………….for a long time.

 
A. has been learning
B. learns 

C. has learned

D. learned

Question 55. Hurry up or the train …………..before you can catch it.

A. will leave

B. leaves

C. will have left
D. has left

-Mark the letter A, B, C or D on your answer sheet to indicate the sentence which has the same meaning as the original one.  ( 56 – 61 )

Question 56. Mr.Pike wants his wife to quit her job and look after their children.

A.  Mr.Pike would like his wife to stop working and look after their children. .

B.  Mr.Pike would like his wife to continue working in spite of looking after their children.
C.  Mr.Pike wants to quit his job and his wife look after their children.
D.  Mr.Pike would like his wife to stop working and looking after their children..

Question 57. She broke down the moment she heard the news.

A. She was broken for a moment when she heard the news.

 
B. She broke her leg when hearing the news.

C. On hearing the news, she broke down.                             

D. When she heard the news, she was sick.

Question 58. They bought a gift that was very expensive for their son.

      
A. Their son bought an expensive gift for his birthday.

B.  Although the gift was inexpensive, they didn’t buy it for their son.                                                          

C.  They gave their son a gift that was very expensive.
D.  The gift was so expensive that they didn’t buy it for their son.

Question 59. I was not surprised to hear that Harry had failed his driving test.


A. By having failed his driving test, Harry made no surprise.


B. It came as no surprise to me that Harry had failed his driving test.


C. Harry’s having failed his driving test is not my surprise.


D. If Harry had not failed his driving test, I would have been surprised.

Question 60. We couldn’t have managed our business successfully without my father’s money.


A. Hadn’t it been for my father’s money, We couldn’t have managed our business successfully.


B. We could have managed our business successfully with my father’s money.


C. If we could manage our business successfully, my father would give us his money.


D. If  we couldn’t have managed our business successfully, we would have had my father’s money. 

Passage 3.  Read the following passage and choose the letter (A, B, C or D) to fill in each blank.

  The expression on your face can usually dramatically alter your feelings and perceptions, and it has been proved that (61)…………….smiling or frowning can create corresponding emotional responses. The idea was first (62)…………….by a French physiologist, Israel Waynbaum, in 1906. He believed that different facial (63)…………….affected the flow of blood to the brain, and that this could create positive or negative feelings. A happy smile or irrepressible (64)……………increased the blood flow and contributed to joyful feelings. But sad, angry expressions decreased the flow of oxygen-carrying blood, and created a vicious (65)……………of gloom and depression by effectively starving the brain of essential fuel.

   Psychologist Robert Zajonc rediscovered this early subject , and suggests that the temperature of the brain could affect the production and synthesis of neurotransmitters – which definitely influence our moods and energy levels. He argues that an impaired blood could not only deprive the brain of oxygen , but create further chemical imbalance (66)…………….inhibiting these vital hormonal messages. Zajonc goes on to propose that our brains remember smiling associated with being happy, and that by deliberately smiling through your tears you can (67)……………your brain to release uplifting neurotransmitters –replacing a depression condition (68)……………a happier one. People suffering from psychosomatic (69)……………., depression and anxiety states could (70)…………..from simply exercising their zygomatic muscles –which pull the corners of the mouth up and back to form a smile- several times an hour.

Question 61. 
A. desperately 
B. inattentively 
C. deliberately 
D. decidedly

Question 62. 
A. put off 

B. put down 

C. put by 

D. put forward

Question 63. 
A. aspects

B. looks 

C. expressions 
D. appearances

Question 64. 
A. laughter 

B. sadness 

C. humour 

D. depression

Question 65. 
A. cycle 

B. spiral 

C. circle

D. ring

Question 66. 
A. by 


B. without 

C. when 

D. from

Question 67. 
A. make 

B. persuade 

C. allow 

D. decide

Question 68. 
A. through 

B. by 


C. after 

D. with

Question 69. 
A. disease 

B. illness 

C. infection 

D. ailment

Question 70. 
A. recover 

B. improve 

C. benefit 

D. progress

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions or do as directed.

Question 71.  The bride and the groom entered the wedding hall  …………… by four nice children.

A. preceding 

B. precede 

C. precedes 

D. preceded 

Question 72.  My sister is a woman of …………… age.

A. marriage 

B. married 

C. marrying 

D. marriageable

Question 73. Many animals are ……………for their fur and other valuable parts of their bodies.


A. hunted 

B. chased 

C. run after 

D. followed

Question 74. I’m sorry I haven’t got any money. 
- I’ve………….my wallet at home.


A. missed 

B. left 


C. let 


D. forgotten

Question 75. The doctor gave the patient…………..examination to discover the cause of his collapse.


A. a thorough 

B. a universal 

C. an exact 

D. a whole

Question 76. Elderly people, ………………, require constant attention.


A. a large number’s depending on government aid


B. and many of them depend on the government to finance them


C. who are dependent many of them on the financing from the government


D. many of whom are financially dependent on the government

Question 77. My sister told me to pack some trousers and shirts for the trip,…………, not to forget my toothbrush.


A. after all

B. but more or less
C. before long 

D. but above all

Question 78. I am not able to go anywhere this weekend because I am up to my…………..in work.


A. neck 

B. nose 

C. head 

D. eyes

Question 79. A: “…………………………..”

B: “ I have a terrible headache.”


A. What’s the matter with you? 
B. What’s the problem to you?


C. What happens with you? 

D. What causes you?

Question 80. Do you mind if I open the window?


A. Yes, it is, isn’t it? 


B. Yea, of course.


C. Please, don’t worry! 

D. I’d rather you didn’t.
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                                                                (Time allowance is 90 minutes)

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 
Question 1: Chemistry is my ______ subject at school. 

A. favourite 


B. popular 

C. liking 


D. wanted 

Question 2: - "Would you like to join our volunteer group this summer?" 
- "______" 

A. Do you think I would?                    B. I wouldn't. Thank you.

 C. Yes, you're a good friend.             D. Yes, I'd love to. Thanks. 

Question 3: - "Wow! What a nice coat you are wearing!" 
- "______" 

A. Certainly. Do you like it, too? 

B. I like you to say that. 

C. Yes, of course. It's expensive. 

D. Thanks. My mother bought it for me. 

Question 4: My supervisor is angry with me. I didn't do all the work I ______ last week. (người giám hộ/sát)

A. should have done 

B. may have done 
C. need to have done 

D. must have done 

Question 5: He runs a business, ______ he proves to have managerial skills. (run)

A. however 


B. otherwise 

C. and 



D. despite 

Question 6: Whenever he had an important decision to make, he ______ a cigar to calm his nerves. (thói quen)

A. would light 

B. would be lighting 
C. would have lit 

D. had lit 

Question 7: Preparing for a job interview can be very ______. 

A. stress 


B. stressful 

C. stressed 


D. stressing 

Question 8: My brother left his job last week because he did not have any ______ to travel. 

A. position 


B. chance 

C. ability 


D. location 

Question 9: Not until the end of the 19th century ______ become a scientific discipline. (# it be not until)

A. plant breeding has 
B. did plant breeding 
C. plant breeding had 

D. has plant breeding 

Question 10: - "I can't speak English well enough to apply for that post." 
- "______." 

A. Me neither (-)

B. Me too (+)

C. Me either 

D. Me also 

Question 11: "How can you live in this messy room? Go and ______ it up at once." 

A. dust 


B. sweep 

C. tidy 

D. do 

Question 12: Tears contain an antiseptic ______ helps protect our eyes from infection. 

A. that 


B. what 

C. how 

D. where 

Question 13: She is very absent-minded: she ______ her cell-phone three times! 

A. has lost 


B. loses 

C. was losing 

D. had lost 

Question 14: - "Which hat do you like better?" 
- "______" 

A. Yes, I like it best. 



B. one I tried on first. 
C. Which one do you like? 


D. I haven't tried any. 

Question 15: He always ______ the crossword in the newspaper before breakfast. 

A. writes 


B. makes 

C. works 

D. does 

Question 16: It is hard to get ______ him; he is such an aggressive man. 

A. by 



B. on with 

C. into 

D. over to 

Question 17: The new director of the company seems to be an intelligent and ______ man. 

A. well-educated 

B. well-educate 
C. well-educational 
D. ell-education 

Question 18: The movie is ______ Shakespeare’s Hamlet in a number of ways. 

A. like to 


B. alike with 

C. similar to 

D. same as 

Question 19: Although the exam was difficult, ______ the students passed it. 

A. most of 


B. none of 

C. a few 

D. a lot 

Question 20: - "Our team has just won the last football match." 
- "______" 

A. Good idea. Thanks for the news. 

B. Yes. I guess it's very good. 

C. Well, that's very surprising! 

D. Yes, it's our pleasure. 

Question 21: Vietnam's rice export this year will decrease ______ about 10%, compared with that of last year. 

A. with 


B. at 


C. by 


D. on 

Question 22: By ______ the housework done, my mother has more time to pursue her career. 

A. ordering 


B. taking 

C. having 

D. making 

Question 23: The youths nowadays have many things to do in their ______ time.           

A. leisure 


B. entertainment 
C. fun 


D. amusement 

Question 24: Mary is unhappy that she hasn't ______ for the next round in the tennis tournament. 

A. qualified 


B. quality 

C. qualification 
D. qualifying 

Question 25: Working hours will fall to under 35 hours a week, ______? 

A. will they 


B. won't they
 
C. won't it 

D. will it 

Question 26: This factory produced ______ motorbikes in 2008 as in the year 2006. 

A. twice as many 

B. as twice as many 
C. as twice many  D. as many as twice   

Question 27: In many big cities, people have to ______ up with noise, overcrowding and bad air. 

A. keep 


B. catch 

C. face 

D. put 

Question 28: Had she worked harder last summer, she ______. 

A. wouldn't have been sacked 


B. wouldn't have sacked 
C. wouldn't sack 




D. wouldn't be sacked 

Question 29: Listening is the most difficult language ______ for me to master. 

A. one 



B. way 

C. skill 

D. job 

Question 30: In the modern world, women's ______ roles have been changing. 

A. natured 


B. naturally 

C. nature 

D. natural 
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 
Question 31: Successful salespeople know their products thoroughly ______. 

A. and the needs of the market understood 

B. but the needs of the market are understood properly 

C. and understand the needs of the market properly 

D. understanding the needs of the market 

Question 32: The Vietnamese students have to take an entrance exam ______. 

A. in order that they should go to a college or university 

B. for going to a college and university 

C. so as go to a college or university 



D. so that they can go to a college or university 

Question 33: ______, many animals can still survive and thrive there. 

A. Being severe weather conditions in the desert       
B. Although the weather conditions in the desert are severe 

C. The weather conditions in the desert to be severe  
D. Even though the weather conditions in the desert severe 

Question 34: Hillary changed her major from linguistics to business, ______. 

A. hoping she can easier get a job 

B. with the hope for being able finding a better job 

C. hoping to find a job more easily 

D. with hopes to be able easier to get employment 

Question 35: An excellent hairstylist can make a man seem to have more hair ______. 

A. as has actually he 
B. than he actually has 
C. than it actually is 
D. as is it actually 

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction. 
Question 36: My father used to giving me some good advice whenever I had a problem. 

                                                        A                  B                           C                      D 

Question 37: The woman of whom the red car is parked in front of the bank is a famous pop star. 

                                                   A                             B               C                                   D 

Question 38: The better you are at English, more chance you have to get a job with international organizations. 

                                 A                B                         C                                      D 

Question 39: There are differences and similarities between Vietnamese and American culture. 

                             A                                B                                      C                                     D 

Question 40: Society will be having to change radically to keep pace with the technology available. 

                             A             B                                                                   C                              D 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 41 to 50. 
Today we take electricity for granted and perhaps we do not realize just how useful this discovery has been. Steam was the first invention that replaced wind power. It was used to drive engines and was passed through pipes and radiators to warm rooms. Petrol mixed with air was the next invention that provided power. Exploded in a cylinder, it drove a motor engine. Beyond these simple and direct uses, those forms have not much adaptability. On the other hand, we make use of electricity in thousands of ways. From the powerful voltages that drive our electric trains to the tiny current needed to work a simple calculator, and from the huge electric magnet in steel works that can lift 10 tons to the tiny electric magnet in a doorbell, all are powered by electricity. An electric current can be made with equal ease (thanh thản) to heat a huge mass of molten (nóng chảy) metal in a furnace(lò nung), or to boil a jug (bình, lọ) for a cup of coffee. Other than atomic energy, which has not as yet been harnessed (khai thác) to the full, electricity is the greatest power in the world. It is flexible, and so adaptable for any task for which it is wanted. It travels so easily and with incredible speed along wires or conductors that it can be supplied instantly over vast distances. To generate electricity, huge turbines or generators must be turned. In Australia they use coal or water to drive this machinery. When dams are built, falling water is used to drive the turbines without polluting the atmosphere with smoke from coal. Atomic power is used in several countries but there is always the fear of an accident. A tragedy once occurred at Chernobyl, in Ukraine, at an atomic power plant used to make electricity. The reactor leaked, which caused many deaths through radiation. Now scientists are examining new ways of creating electricity without harmful effects to the environment. They may harness the tides as they flow in and out of bays. Most importantly, they hope to trap sunlight more efficiently. We do use solar heaters for swimming pools but as yet improvement in the capacity of the solar cells to create more current is necessary. When this happens, electric cars will be viable and the world will rid itself of the toxic gases given off by trucks and cars that burn fossil fuels. 

Question 41: The author mentions the sources of energy such as wind, steam, petrol in the first paragraph to ______. A. suggest that electricity should be alternated with safer sources of energy 

B. emphasize the usefulness and adaptability of electricity 

C. imply that electricity is not the only useful source of energy 

D. discuss which source of energy can be a suitable alternative to electricity                                       

Question 42: Before electricity, what was sometimes passed through pipes to heat rooms? 

A. Gas. 


B. Petrol. 

C. Steam. 


D. Hot wind. 

Question 43: What does the author mean by saying that electricity is flexible? 

A. It is cheap and easy to use. 

B. It is used to drive motor engines. 

C. It can be adapted to various uses. 
D. It can be made with ease. 

Question 44: What do we call machines that make electricity? 

A. Voltages. 

B. Electric magnets. 
C. Generators or turbines. 
D. Pipes and radiators. 

Question 45: The main forms of power used to generate electricity in Australia are ______. 

A. atomic power and water 
B. water and coal 
C. sunlight and wind power 
D. wind and gas 

Question 46: The word "they" in the last paragraph refers to ______. 

A. harmful effects 

B. the tides 

C. scientists 


D. new ways 

Question 47: Electric magnets are used in steel works to ______. 

A. lift heavy weights up to ten tons 


B. test the steel for strength 

C. heat the molten steel 



D. boil a jug of water 

Question 48: The advantage of harnessing the power of the tides and of sunlight to generate electricity is that they ______. 
A. do not pollute the environment 


B. are more reliable 

C. are more adaptable 



D. do not require attention 

Question 49: Which of the following power sources causes pollution by emitting harmful gases? 

A. Sunlight. 


B. Petrol. 

C. Water. 

D. Wind. 

Question 50: The best title for this passage could be ______. 

A. “Types of Power Plants” 


B. “Electricity: Harmful Effects on Our Life” 

C. “How to Produce Electricity” 

D. “Why Electricity Is So Remarkable” 
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part is pronounced differently from that of the rest in each of the following questions. 
Question 51: A. exist 

B. extinct 

C. explorer 

D. expand 

Question 52: A. eternal 

B. energy 

C. eradicate 

D. eliminate 

Question 53: A. ancient 

B. educate 

C. strange 

D. address 

Question 54: A. desert 

B. reserve

C. observant

D. conserve 

Question 55: A. astound 

B. account 

C. country 

D. mounting 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word(s) for each of the blanks from 56 to 65. 
In the United States and Canada, it is very important to (56)______ a person directly in the eyes when you are having a conversation (57)______ him or her. If you look down or to the side when the (58)______ person is talking, that person will think that you are not interested in (59)______ he or she is saying. This, (60)______, is not polite. If you look down or to the side when you are talking, it might (61)______ that you are not honest.  However, people who are speaking will sometimes look away for (62)______ seconds when they are thinking or (63)______ to find the right word. But they always turn immediately (64)______ to look the listener directly in the eyes. These social "rules" are (65)______ for two men, two women, a man and a woman, or an adult and a child. 

Question 56: A. talk 


B. notice 

C. get 


D. look 

Question 57: A. with 


B. to 


C. for 


D. about 

Question 58: A. others 

B. another 

C. one 


D. other 

Question 59: A. which 

B. what 

C. that 


D. where 

Question 60: A. yet 


B. in addition 

C. of course 

D. although 

Question 61: A. become 

B. come 

C. seem 

D. turn 

Question 62: A. a little 

B. a few 

C. little 

D. few 

Question 63: A. trying 

B. looking 

C. achieving 

D. managing 

Question 64: A. up 


B. back 

C. down 

D. over 

Question 65: A. like 


B. the same 

C. likely 

D. such as 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 66 to 75. 
If parents bring up a child with the sole aim of turning the child into a genius (thiên tài), they will cause a disaster. According to several leading educational psychologists, this is one of the biggest mistakes which ambitious parents make. Generally, the child will be only too aware of what his parents expect, and will fail. Unrealistic parental expectations can cause great damage to children. 

However, if parents are not too unrealistic about what they expect their children to do, but are ambitious in a sensible way, the child may succeed in doing very well – especially if the parents are very supportive of their child. Michael Collins is very lucky. He is crazy about music, and his parents help him a lot by taking him to concerts and arranging private piano and violin lessons for him. They even drive him 50 kilometers twice a week for violin lessons. Michael’s mother knows very little about music, but his father plays the trumpet in a large orchestra. However, he never makes Michael enter music competitions if he is unwilling. Winston Smith, Michael’s friend, however, is not so lucky. Both his parents are successful musicians, and they set too high a standard for Winston. They want their son to be as successful as they are and so they enter him for every piano competition held. They are very unhappy when he does not win. Winston is always afraid that he will disappoint his parents and now he always seems quiet and unhappy. 

Question 66: One of the serious mistakes parents can make is to ______. 

A. push their child into trying too much 

B. help their child to become a genius 

C. make their child become a musician 

D. neglect their child’s education 

Question 67: Parents’ ambition for their children is not wrong if they ______. 

A. force their children into achieving success 
B. themselves have been very successful 

C. understand and help their children sensibly 
D. arrange private lessons for their children 

Question 68: Who have criticized the methods of some ambitious parents? 

A. Successful musicians. B. Unrealistic parents. C. Their children. 
D. Educational psychologists. 

Question 69: Michael Collins is fortunate in that ______. 

A. his father is a musician 


B. his parents are quite rich 

C. his mother knows little about music 
D. his parents help him in a sensible way 

Question 70: The phrase "crazy about" in the passage mostly means ______. 

A. "surprised at"   B. "extremely interested in" C. "completely unaware of" D. "confused about" 

Question 71: Winston’s parents push their son so much and he ______. 

A. has won a lot of piano competitions 

B. cannot learn much music from them 

C. has become a good musician 


D. is afraid to disappoint them 

Question 72: The word "They" in the passage refers to ______. 

A. concerts 

B. violin lessons 
C. parents in general 

D. Michael’s parents 

Question 73: All of the following people are musical EXCEPT _____. 

A. Winston’s father 
B. Winston’s mother 
C. Michael’s father 

D. Michael’s mother 

Question 74: The word "unwilling" in the passage mostly means ______. 

A. "getting ready to do something" 

B. "eager to do something" 

C. "not objecting to doing anything" 

D. "not wanting to do something" 

Question 75: The two examples given in the passage illustrate the principle that ______. 

A. successful parents always have intelligent children  

B. successful parents often have unsuccessful children 

C. parents should let the child develop in the way he wants 

D. parents should spend more money on the child’s education 

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning to the original sentence in each of the following questions. 
Question 76: Unless someone has a key, we cannot get into the house. 

A. We could not get into the house if someone had a key. 

B. If someone does not have a key, we can only get into the house. 

C. We can only get into the house if someone has a key. 

D. If someone did not have a key, we could not get into the house. 

Question 77: She knows a lot more about it than I do. 

A. I know as much about it as she does. 

B. I do not know as much about it as she does. 

C. She does not know so much about it as I do. 
D. I know much more about it than she does. 

Question 78: The boy was not allowed to have any friends, so he felt lonely. 

A. Having no friends, the boy felt so lonely. 
B. Not having friends, they made the boy feel lonely. 

C. Having a lot of friends, the boy felt lonely. 
D. Deprived of friends, the boy felt lonely. 

Question 79: Is it essential to meet your aunt at the station? 

A. Did your aunt have to be met at the station? 
B. Does your aunt have to meet at the station? 

C. Does your aunt have to be met at the station? 
D. Was your aunt met at the station? 

Question 80: Conan said to me, "If I were you, I would read different types of books in different ways." 

A. Conan ordered me to read different types of books in different ways. 

B. I said to Conan to read different types of books in different ways to me. 

C. I read different types of books in different ways to Conan as he told me. 

D. Conan advised me to read different types of books in different ways. 

THE END
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Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions from 1 to 5.

Question 1:  It was not only cold but it also snowed a few days ago.

A. Was it not only cold but it also snowed a few days ago.
B. It was not only cold but did it also snow a few days ago.
C. Not only it was cold but did it also snow a few days ago.
D. Not only was it cold but it also snowed a few days ago.
Question 2:   I would rather you wore something more formal to work.

A. I’d prefer you wearing something more formal to work.
B. I’d prefer you should wear something more formal to work.
C. I’d prefer you to wear something more formal to work.
D. I’d prefer you wear something more formal to work.
Question 3:  The meeting was put off because of pressure of time.

A. There was not enough time to hold the meeting.
B. The meeting was planned to start late because of time pressure.
C. The meeting started earlier because people wanted to leave early.
D. The meeting lasted much longer than usual.
Question 4:  We bought two bicycles. Neither of them worked well.

A. We bought two bicycles, of which neither worked well.
B. We bought two bicycles which neither of worked well.
C. We bought two bicycles neither of which worked well.
D. We bought two bicycles, neither of which worked well.
Question 5:   Wealthy as they were, they were far from happy.

A. Even if they were wealthy, they were not unhappy.
B. They were not happy as they were wealthy.
C. They were as wealthy as they were happy.
D. Although they were wealthy, they were not happy.
Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word for each of the blanks from 6 to 15.

       The traditional definition of literacy is considered to be the ability to read and write, or the ability to use language to read, write, listen, and speak. In modern contexts, the word refers to reading and writing at a level (6) _____ for communication, or at a level that lets one understand and communicate  ideas in a literate society,' so as to take (7)_____ in that society. The United Nations, Educational, Scientific and Cultural Organization (UNESCO) has drafted the following definition: “Literacy is the ability to identify, understand, interpret, create, communicate and compute, using printed and written' materials (8) _____ with varying contexts. Literacy involves a continuum of learning to enable an Individual to achieve his or her goals, to develop his, or her (9) _____ and potential, and to participate fully in the wider society."  

     Many policy analysts consider literacy rates a crucial measure of a region's human capital. This claim is made on the (10) _____ that literate people can be trained less expensively than illiterate people, generally have a higher socio-economic (11) _____ and enjoy better health and employment prospects. Policy makers also argue that literacy increases job opportunities and access to higher education. In Kerala, India, for example, female and child mortality rates declined (12) _____ in the 1960s, when girls who were educated in the education reforms after 1948 began to raise families. Recent researchers, (13)_____, argue that correlations such as, the one listed above may have more to do with the effects of schooling rather than literacy in general. Regardless, the (14) _____ of educational systems worldwide includes a basic (15) _____ around communication through test and print, which is the foundation of most definitions of literacy.

Question 6: A. adaptable
B. suitable
C. adequate
D. important

Question 7: A. comfort
B. control
C. part
D. honor

Question 8: A. associated
B. worked
C. appropriated
D. related

Question 9: A. ability
B. knowledge
C. performance
D. behavior

Question 10: A. foundations
B. ways
C. grounds
D. basics

Question 11: A. condition
B. request
C. state
D. status

Question 12: A. dramatically
B. extremely
C. actually
D. accurately

Question 13: A. additionally
B. however
C. therefore
D. consequently

Question 14: A. focus
B. demand
C. majority
D. main

Question 15: A. content
B. concept
C. contact
D. context

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions from 16 to 30.

Question 16:  Jane: Thank you for a lovely evening.                      

            Barbara: ________________________

A. Thanks!
B. Cheer!
C. Have a good day
D. You are welcome.
Question 17:  Please cut my hair _____the style in this magazine.

A. the same length as
B. the same long as
C. the same length like
D. the same long like
Question 18:  Half of the children were away from school last week because of ______of influenza.

A. a breakthrough
B. an outbreak
C. a break- out
D. an outburst
Question 19:  It is very difficult to _____the exact meaning of an idiom in a foreign language.

A. transfer
B. exchange
C. convert
D. convey
Question 20:  Deborah is going to take extra lessons to_____ what she missed while she was away.

A. catch up on
B. cut down on
C. take up with
D. put up with
Question 21:  So little ______about mathematics that the lecture was completely beyond me.

A. did I know
B. I have known
C. I knew
D. do I know
Question 22:   Anne: "Make yourself at home".                        

                    John : "________________________"

A. Thanks! Same to you.
B. That's very kind. Thank you.
C. Not at all. Don't mention it.
D. Yes, Can I help you?
Question 23:  In the ______of proof, the police could not take action against the man.

A. lack
B. shortage
C. absence
D. want

Question 24:  By December, Tim ______enough money to buy a mountain bike.

A. has saved
B. will have saved
C. will save
D. saves

Question 25:  We need a lot more action and a lot ______talk.

A. less
B. few
C. fewer
D. little

Question 26:   As an adult, I am independent ______my parents financially.

A. of
B. with
C. out
D. on

Question 27:  It is imperative that every parcel on board ______before the flight.

A. must be checked
B. is checked
C. were checked
D. be checked

Question 28:  Who was the last one ______the classroom yesterday?

A. to leave
B. left
C. leaving
D. had left

Question 29:  Different cultures  ______dreams in different ways.

A. interpret
B. associate
C. express
D. interfere

Question 30:  Because of ______weather conditions, California has an advantage in the production of fruits and vegetables.

A. favour
B. favourably
C. favourite
D. favourable

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions from 31 to 45.

Question 31:  All ______is a continuous supply of the basic necessities of life.

A. that is needed
B. for our needs
C. what is needed
D. the thing needed
Question 32:  Nowadays people no longer smoke________.

A. more than they used to be.
B. as many as they used to.
C. as much as they used to.
D. more than they do now.
Question 33:  Today, women are increasingly involved ________ the politics.

A. of
B. in
C. with
D. from
Question 34:  Most Americans don’t object _________ being called by their first names.

A. in
B. about
C. to
D. for
Question 35:  A: This grammar test is the hardest one we’ve ever had this semester!

                   B: ________________________ but I think it’s quite easy.

A. You’re right
B. I couldn’t agree more
C. I understand what you’re saying
D. I don’t see in that way
Question 36:  Our landlord had the broken window ________ before winter.

A. fix
B. fixing
C. fixed
D. to fix
Question 37:   I had a red pen but I seem to have lost it; I think I’d better buy _________ one.

A. another
B. the
C. the other
D. other
Question 38:  On _______ he had won, he jumped for joy.

A. he has told
B. having told
C. being told
D. telling
Question 39:  She was _______she could not say anything.

A. so that surprised for the news
B. so surprised of the news that
C. so surprised at the news that
D. such surprised at the news that
Question 40:   I finally managed ​​​​​​​​​​​​​​​​​​​​_________.

A. in getting a temporary job.
B. a temporary job to get.
C. to get a temporary job.
D. getting a temporary job.
Question 41:  The car always breaks down because of its old ______.

A. machinery
B. machine
C. engine
D. motor
Question 42:  Let’s go to the library, ____________?

A. will we
B. would we
C. should we
D. shall we
Question 43:  ______so aggressive, we’d get on much better.

A. If she weren’t
B. Had she not
C. Weren’t she
D. She was not
Question 44:  We haven’t reached the final _______ on the funding for scientific research yet.

A. deciding
B. decision
C. decisive
D. decides
Question 45:  A: ___________________________________________                   

                   B: Oh, thank you. I just got it yesterday.

A. How a beautiful dress you’re wearing!



B. When have you got this beautiful dress?
C. You’ve just bought this beautiful dress, haven’t you?

D. That’s a beautiful dress you have on!
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions 46 to 50.

Question 46: A. appropriate
B. miraculous
C. intimacy
D. solidify
Question 47: A. property
B. surgery
C. furthermore
D. nitrogen
Question 48: A. preferential
B. calculation
C. conventional
D. apprehension
Question 49: A. military
B. satisfactory
C. television
D. generously
Question 50: A. belong
B. indeed
C. private
D. emit
Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction from 51 to 55.

Question 51:  As a child grows on, its physical health is affected by many elements in the air, water and food.

                                              A                                         B      C             D
Question 52:The threat of being dismissed do not worry me any more because I have started my own business.

                 A                              B                    C                                                                               D
Question 53:  
This will have a serious effect about agriculture.

                             A           B                           C           D
Question 54:  After Allan had searched for twenty minutes, he realized that his jacket had been laying on the

                                           A             B                                                                                         C

table the entire time. 


     D

Question 55: A smile can be observed, described, and reliably identify; it can also be elicited and manipulated 

                           A                                                                            B

under experimental conditions.

                  C               D

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 56 to 65.

	Line

5

10

15

     20

      25
	     The advent of the Internet may be one of the most important technological developments in recent years. Never before have so many people had access to so many different sources of information. For all of the Internet’s advantages, however, people are currently becoming aware of some of its drawbacks and are looking for creative solutions. Among the current problems, which include a general lack of reliability and numerous security concerns, the most crucial is speed. 

     First of all, the Internet has grown very quickly. In 1990, only a few academics had ever heard of the Internet. In 1996, over 50 million people used it. Every year, the number of people with access to the Internet doubles. The rapid growth has been a problem. The computer systems which run the Internet have not been able to keep up with the demand. Also, sometimes, a request for information must pass through many routing computers before the information can be obtained. A request for information made in Paris might have to go through computers in New York, Los Angeles and Tokyo in order to obtain the required information. Consequently, the service is often slow and unpredictable.  Service also tends to be worse when the Internet is busiest - during the business day of the Western Hemisphere - which is also when companies need its service the most. 

      Some people are trying to harness the power of networked computers in such a way as to avoid this problem. In 1995, a group of American universities banded together to form what has come to be known as Internet II. Internet II is a smaller, more specialized system intended for academic use. Since it is more specialized, fewer users are allowed access. Consequently, the time required to receive information has decreased. 

     Businesses are beginning to explore a possible analogue to the Internet II. Many businesses are creating their own “Intranets”. These are systems that can only be used by the members of the same company. In theory, fewer users should translate into a faster system. Intranets are very useful for large national and international companies whose branches need to share information. Another benefit of an Intranet is an increased amount of security. Since only company employees have access to the information on the Intranet, their information is protected from competitors. While there is little doubt that the Internet will eventually be a fast and reliable service, industry and the academic community have taken their own steps toward making more practical global networks. 


Question 56:  According to the passage, which of the following is not true of the Internet ?

A. It tends to be unreliable.
B. It has created a sense of financial security.

C. It is too expensive to access.
D. It has become increasingly less popular.

Question 57:  According to the passage, which of the following statements was true in 1990?

A. The Internet was a secure means to gain information.

B. The Internet experienced enormous growth rates.

C. Internet data proved to be impractical.



D. Few people were using the Internet.

Question 58:  According to the author, what is one reason why the Internet is sometimes slow?

A. Phone lines are often too busy with phone calls and fax transmissions to handle Internet traffic.

B. Most people do not have computers that are fast enough to take advantage of the Internet.

C. Often a request must travel through many computers before it reaches its final destination.

D. Scientists take up too much time on the Internet , thus slowing it down for everyone else.

Question 59:  The word “ obtained” in line 10 is closest in meaning to ________.

A. understood
B. acquired
C. purchased
D. distributed

Question 60:  The word “ harness” in line 15 is closest in meaning to ________.

A. utilize
B. disguise
C. steal
D. block

Question 61: According to the passage, what benefits does Internet II have over the Internet I?

A. There is no governmental intervention regulating Internet II.

B. Small businesses pay higher premiums to access to the Internet.

C. Internet II contains more information than the Internet.

D. Internet II has fewer users and therefore is faster to access.

Question 62:  The word “ analogue” in line 20 most nearly means__________.

A. similarity
B. alternative
C. use
D. solution

Question 63:  The word “their” in line 25 refers to __________.

A. competitors
B. company employees
C. Intranets
D. companies

Question 64:  With which of the following conclusions would the author probably agree?

A. Fewer academic communities need to create their own Internet systems.

B. Companies who develop their own Intranets are limiting their information data base.

C. The technology used by Internet creators is too complex for computer owners to understand.

D. An Internet system with fewer users would be quicker.

Question 65:  All of the following are advantages of business “ Intranets” mentioned in the  passage EXCEPT__________

A. they provide a higher level of security.

B. they share information with other company branches.

C. they are cheaper than other alternatives.

D. they move data faster.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 66 to 75.

History books recorded that the first film with sound was The Jazz Singer in 1927. But sound films, or talkies, did not suddenly appear after years of silent screenings. From the earliest public performances in 1896, films were accompanied by music and sound effects. These were produced by a single pianist, a small band, or a full-scale orchestra; large movie theatres could buy sound-effect machines. Research into sound that was reproduced at exactly at the same time as the pictures - called "synchronized sound" – began soon after the very first films were shown. With synchronized sound, characters on the movie screen could sing and speak. As early as 1896, the newly invented gramophone, which played a large disc carrying music and dialogue, was used as a sound system. The biggest disadvantage was that the sound and pictures could become unsynchronized if, for example, the gramophone needle jumped or if the speed of the projector changed. This system was only effective for a single song or dialogue sequence.

In the "sound-on-film" system, sound was recorded as a series of marks on celluloid which could be read by an optical sensor. These signals would be placed on the film alongside the image, guaranteeing synchronization. Short feature films were produced in this way as early as 1922. This system eventually brought us "talking pictures".

Question 66:  The passage is mainly about the ______________.

A. research into sound reproduction.
B. development of sound with movies.
C. disadvantages of synchronized sound.
D. history of silent movies.
Question 67:  According to the passage, films using sound effects were screened ___________.

A. as early as 1922
B. in 1927
C. before 1896
D. as early as 1896
Question 68:  The word "screenings" is closest in meaning to "________________".

A. projections
B. revelations
C. demonstrations
D. diversions
Question 69:  Which of the following is not mentioned as a producer of sound to accompany movies?

A. a Jazz Singer
B. a single pianist
C. a gramophone
D. a small band
Question 70:  It can be inferred that ______________.

A. sound-effect machines were not common because they were expensive
B. gramophones were developed about the same time as moving pictures.
C. most movie theaters had a pianist
D. orchestras couldn't synchronize sound with the pictures
Question 71:  According to the passage, gramophones were ineffective because they _______________.

A. were newly invented and still had imperfections.
B. changed speeds when the needle jumped.
C. were too large for most movie theaters.
D. got out of synchronization with the picture.
Question 72:  The word "sequence" is closest in meaning to _________________

A. distribution
B. organization
C. interpretation
D. progression
Question 73:  The phrase "these signals" refers to ______________.

A. sounds
B. marks
C. series
D. sensors
Question 74:  According to the passage, sound-on-film guaranteed synchronization because the recording was ________.

A. inserted beside the image on the film
B. marked on the gramophone
C. read by an optical sensor
D. made during the film of the picture
Question 75:  Short feature films produced as early as 1922 __________.

A. were recorded by optical sensors
B. preceding talking pictures
C. were only effective for dialogue sequences
D. put musicians out of work
Mark the letter A, B, C, or D on your answer sheet to indicate the best sentence made from the given words from 76 to 80.

Question 76:  
you/ entitle/ drive/ car/ your driving license. //

A. You are not entitled to driving a car without your driving license.

B. You do not entitle to drive a car without your driving license.

C. You are not entitled to drive a car with your driving license.

D. You are not entitled to drive a car without your driving license.

Question 77:  
there/ no point/ try/ explain/ it/ her/ she/ incapable/ understand.//

A. There is no point in trying to explaining it to her; she is incapable on understanding it.

B. There is no point trying to explain her to it; she is incapable in understanding it.

C. There is no point trying to explain it to her; she is incapable of understanding it.

D. There is no point in trying explaining it to her; she is incapable to understand it.

Question 78:  
not until/ you / grow / understand / the matter.//

A. Not until you grow up that can you understand the matter.

B. Not until you grow up that you can understand the matter.

C. It is not until you grow up that you can understand the matter.

D. It is not until you grow up that can you understand the matter.

Question 79:  
legend/ that / tea/ beverage/ discover / 2737B.C.//

A. Legend makes it that tea was a beverage discovered in 2737B.C.

B. Legend told it that tea as a beverage which discovered in 2737B.C.

C. Legend said that tea was a beverage was discovered in 2737B.C.

D. Legend has it that tea as a beverage was discovered in 2737B.C.

Question 80:  
 number/ factor/ relate/ voice/ reveal/ personality/ speaker.//

A. A number of factors that related to the voice revealing the personality of the speaker.

B. The number of factors relating to the voice revealed the personality of the speaker.

C. A number of factors related to the voice reveal the personality of the speaker.

D. The number of factors related to the voice revealed the personality of the speaker.-----------------------------------
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